TR R
SHA-3 Derived Functions
cSHAKE
KMAC
TupleHash
ParallelHash
TR R

ParallelHash:
Sample #1

Security Strength: 128-bits

Length of data is 192-bits

Datais
00010203040506071011121314151617
20 21 22 23 24 25 26 27

Block size (B) is 8
Requested output length is 256-bits

S (as a character string) is
"(nulh)"

Encoded B
0108

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
2E A7 A0 60 1B 9C 5C B4 1E 46 9F 8540 77 C1 E3
3A AC94 D3 9C E4 6163 429A BC ACFA 99 2B BC
42 4A B6 89 BB 01 23 EO DC 3E 0D 84 37 6A 56 61
6C A0 D2 F7 83 2F 6A 7F AC DD FB CO D9 D6 17 5A
E7 AC 86 17 2D 43 F5 76 E6 AF 5B AA 80 DB 29 FC
07 9C B7 37 AAE6 CF 82 EA 69 AC 6D 00 5E 07 2D
41 FF 84 CA 47 77 2D FF 4A 08 C2 E2 9A 5D 69 A5
64 72 8B F5 66 9E D8 14 6A 9F DC 4E DB 5E 58 C9
62 14 0D 59 1F A6 BF 52 0B F0 88 92 6B 91 9F 79
7161 6F C4 AA 4B 74 6521 AC CE C8 EO 7B 9A 36
BA 718176 18 A6 8CE1 2317 CEED 27 A2 7D 9C
ED 1F B9 FB A5 77 03 F7 D8 EE 18 DF 6B 3E 7A 5E
4A DD 80 27 02 65 00 13

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
1011 1213141516 17 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

1011121314 1516 17 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00

After Permutation
49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E 84 21
67 9D ED 28 2A OE 50 CE E8 F1 18 36 1C 08 75 95
A6 AF 48 A1 8A 74 56 4E 5B 76 26 E6 92 C5 5A A3
D6 F3 FB FO 30 6B 7E FO D5 40 28 F7 AC F3 1F D1
OC F565 4999 F6 06 65 37 67 539128 41 71 90
76 AE 49 5C BO 77 E2 C6 OE CO E1 37 4D B5 34 60
7F A4 2E 6A 94 30 F2 A5 D8 C7 1IE 07 18 7B 61 2B
A0 3E 20 60 17 3C A8 32 FC 86 D4 7A 6D A7 58 07
4CE7C607B304C0O79E57F93 ECB1D4C546
DA CD 8A CB F9 7D D2 A7 AE 18 2F 14 OF E9 8F 62
67 91 26 F7 34 9E 21 EB 4D DA 29 2D 7C 7A CE BD
IEEAE5CCF7632842EDF790CCC506B1D1
0D 4E 82 71 D6 95 1F 7A

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
2021 22 23 24 25 26 27 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 OO 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

2021 22 232425 26 27 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation

E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D A0 CD
E3 EE 6B 06 BF 30 FO F6 3D FF 39 15 A5 51 8F C8
CC5A E2 EB 09 BF BA5E 8831 00 E2 855A F8 E1
EF C5 60 86 33 1F 5F 5D 57 BF 55 D9 EF 05 EOQ C9
84 36 57 9E AB FD 9B 77 60 57 CB 1E 58 C2 F5 8E
52 F8 A4 11 24 23 D3 6D C1 6F 75 BF 8E DD 2B 3F
2D 34 95 9F E4 D3 5D 65 85 76 C6 E4 6D 81 64 F7
CA 66 52 91 96 6F 76 A0 B3 E6 AA A7 EO 43 54 4A
40 C0 4B 36 A8 01 135D 2D EA C3 D5 F691 89 F7
79 C8 27 456B C02834 C3 C357C7083E5223



74 38 84 DE E1 F1 99 3C 0A 51 E6 8C Al 69 8E 9B
9D 11 F7 CFAE94 C5DB C9 CD CC5A AEB75551
96 A5 93 9E 1D DO 06 51
Encoded n
0301
Encoded L
01 00 02
Length of newX is <824>
newX is
01 08 2E A7 AO 60 1B 9C 5C B4 1E 46 9F 85 40 77
C1E3 3A AC94 D3 9C E4 61 63 42 9A BC AC FA 99
2B BC 4986 7B 4E OD 7B A3 44 07 8E ED E9 BD 7E
84 21 67 9D ED 28 2A OE 50 CE E8 F1 18 36 1C 08
7595 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D
AO CD E3 EE 6B 06 BF 30 FO F6 3D FF 39 15 A5 51
8F C8 03 01 01 0002
Encoded N
01 605061 72 61 6C 6C 65 6C 48 61 73 68
Encoded S
01 00
bytepad data
01 AB801 605061 72616C 6C 656C 4861 73 68
01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
01 A8 01605061 7261 6C 6C 656C 48 61 73 68
01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

01 A8 01605061 7261 6C 6C 656C 48 61 73 68
01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
238501 4D D6 CFE5 32 F4 A5 71 C7 26 BD 4F B4
D7 DB 5A F7 3A D6 F1 2A DF 4C 4E D7 EF FE A9 85
41 B2 2C C9BE 9198 C58C 7D 48 3580 0C 3B 3A
6E 58 CE DF 4A 20 B1 69 65 3E DB 68 F6 C3 AC E5
B8 9504 71 3AB1 CF 78 5A 0C 88 7C 07 A8 C6 95
ED D1 EC 8C BF 4347 F4 DO AC 84 5C BC 32 6E 52
D6 7TAE1 D6 BCF168D1 19 FA 4C 8B 5B 43 16 1D
E850405CB7 356C B9 F8 F3 D212 C8 FB C2 C9
F9 2D 0C 32 7C F3 F3 8E B6 C8 3B 3B 51 90 3E 29
26 44 75 23 EA 46 F3 F2 A3 58 59 2F EB 84 F6 E9
09 38 FA AD E3 2309 D9 CD 8C 36 01 17 46 37 1D
D7 2D 6E E3 C2 C7 64 D4 48 E7 99 06 BD 43 EB D4
82 0E 51 34 4E 3C 1F E2

about to call last of the absorb phase

About to Absorb data

State (in bytes)
2385014D D6 CFE532F4 A571 C7 26 BD 4F B4
D7 DB 5A F7 3A D6 F1 2A DF 4C 4E D7 EF FE A9 85
41 B2 2C C9BE 9198 C58C 7D 48 35 80 0C 3B 3A
6E 58 CE DF 4A 20 B1 69 65 3E DB 68 F6 C3 AC E5
B89504 71 3AB1 CF 78 5A 0C 88 7C 07 A8 C6 95
ED D1 EC 8C BF 43 47 F4 DO AC 84 5C BC 32 6E 52
D6 7TAE1 D6 BC F168 D1 19 FA 4C 8B 5B 43 16 1D



E850405C B7356CB9F8F3D212C8FB C2C9
FO9 2D 0C 32 7C F3F3 8E B6 C8 3B 3B 51 90 3E 29
26 44 75 23 EA 46 F3 F2 A3 58 59 2F EB 84 F6 E9
0938 FAADE32309D9CD8C 3601174637 1D
D7 2D 6E E3 C2C7 64 D4 48 E7 99 06 BD 43 EB D4
82 0E 5134 4E 3C 1F E2

Data to be absorbed
01 08 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77
C1E33A AC94 D3 9C E4 616342 9A BC AC FA 99
2B BC 4986 7B 4E OD 7B A3 44 07 8E ED E9 BD 7E
8421 679D ED 28 2A OE 50 CE E8 F1 18 36 1C 08
7595 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D
AO CD E3 EE 6B 06 BF 30 FO F6 3D FF 39 15 A5 51
8F C8 03 01 01 00 02 04 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
22 8D 2F EA 76 AF FE AE A8 11 6F 81 B9 38 OF C3
16 38 60 5B AE 05 6D CE BE 2F 0C 4D 535253 1C
6A OE 65 4F C5 DF 95 BE 2F 39 4F BB 6D E5 86 44
EA 79 A9 42 A7 08 9B 67 35 FO 33 99 EE F5 BO ED
CDOOE2F8BE C4419064 47 B7 3F 7B FO A4 C8
4D 1C OF 62 D4 45 F8 C4 20 5A B9 A3 85 27 CB 03
59 B2 E2D7BD F16A D519 FA 4C 8B 5B 43 16 1D
E850405CB7356CB9F8F3D212C8FB C2C9
FO 2D 0C 32 7C F3 F3 8E B6 C8 3B 3B 51 90 3E 29
26 44 75 23 EA 46 F3 F2 A3 58 59 2F EB 84 F6 E9
0938 FAADE3230959CD8C36011746371D
D7 2D 6E E3 C2 C7 64 D4 48 E7 99 06 BD 43 EB D4
820E 5134 4E 3C 1F E2

After Permutation
BASDC1D1D979331D3F813603C67F 7260
9A B5 E4 4B 94 AO B8 F9 AF 46 51 44 54 A2 B4 F5
CACFFFE83C1557B7 84 2D 64 0557 E0O59 BC
C4 C95B 1D 07 DC FD C4 3A 8E 04 OF C0O 65 76 4E
25 DF 4A 27 4E D4 A1 E353 D8 F5 A9 25 B5 82 FB
27 A1 2B 81 8F EA C988 09 6B D7 62 4E 27 1E 9C
D6 DO 6F 96 E7 96 D9 C2 FO 7597 AA 85 16 97 1B
13 D3 0968 DC AA93 EC 78 9D 5F 4E B3 7E DD 65
DOBEOC 17 D51C D195 6C 37 CC B4 9C C5 1F OF
2E 07 C4 62 0A 96 F3 58 1F 2A 30 96 AB 43 9B OF
BB E3 53 09 B4 OE 08 97 5F B9 2D 04 E7 A4 8C BB
577C017139760D 7B 06 C6 44 B8 AA 4D CC 2C
9B CA 1E 82 6C 3B 66 35

Outval is
BASDC1D1D979331D3F813603C67F 7260



9A B5 E4 4B 94 AO B8 F9 AF 46 51 4454 A2 B4 F5

ParallelHash:
Sample #2

Security Strength: 128-bits

Length of data is 192-bits

Datais
00010203040506071011121314151617
20 21 22 23 24 25 26 27

Block size (B) is 8

Requested output length is 256-bits

S (as a character string) is
"Parallel Data"

Encoded B
0108
about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
2EA7A0601B9C5C B4 1E469F 854077 C1E3
3A AC 94 D3 9C E4 6163 429A BC ACFA 99 2B BC
42 4A B6 89 BB 01 23 EO DC 3E 0D 84 37 6A 56 61
6C AOD2 F7 83 2F6A 7TF ACDD FB COD9 D6 17 5A
E7 AC 86 17 2D 43 F5 76 E6 AF 5B AA 80 DB 29 FC
07 9C B7 37 AA E6 CF 82 EA 69 AC 6D 00 5E 07 2D
41 FF 84 CA 47 77 2D FF 4A 08 C2 E2 9A 5D 69 A5
64 72 8B F5 66 9E D8 14 6A 9F DC 4E DB 5E 58 C9
62 14 0D 59 1F A6 BF 52 0B F0 88 92 6B 91 9F 79
7161 6F C4 AA 4B 74 6521 ACCE C8 EO 7B 9A 36
BA 71817618 A6 8C E12317 CEED 27 A2 7D 9C
ED 1F B9 FB A5 77 03 F7 D8 EE 18 DF 6B 3E 7A 5E
4A DD 80 27 02 6500 13

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
1011 121314151617 1F 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

1011121314 1516 17 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E 84 21
67 9D ED 28 2A OE 50 CE E8 F1 18 36 1C 08 75 95
A6 AF 48 A1 8A 74 56 4E 5B 76 26 E6 92 C5 5A A3
D6 F3 FB FO 30 6B 7E FO D5 40 28 F7 AC F3 1F D1
0OC F565 4999 F6 06 65 37 67 539128 41 71 90
76 AE 49 5C BO 77 E2 C6 OE CO E1 37 4D B5 34 60
7F A4 2E 6A 94 30 F2 A5 D8 C7 1E 07 18 7B 61 2B
A0 3E 206017 3C A8 32 FC 86 D4 7A 6D A7 58 07
ACE7C607B304C079E57F93 EC B1D4 C546
DA CD 8A CB F9 7D D2 A7 AE 18 2F 14 OF E9 8F 62
67 91 26 F7 34 9E 21 EB 4D DA 29 2D 7C 7A CE BD
IEEAE5CCF7632842EDF790CCC506B1D1
0D 4E 82 71 D6 95 1F 7A

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

2021 22 23 24 25 26 27 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D A0 CD
E3 EE 6B 06 BF 30 FO F6 3D FF 39 15 A5 51 8F C8
CC5A E2EB 09 BF BA 5E 88 31 00 E2 85 5A F8 E1
EF C560 86 33 1F 5F 5D 57 BF 55 D9 EF 05 EO C9
84 36 57 9E AB FD 9B 77 60 57 CB 1E 58 C2 F5 8E
52 F8 A4 11 24 23 D3 6D C1 6F 75 BF 8E DD 2B 3F
2D 34 95 9F E4 D3 5D 65 85 76 C6 E4 6D 81 64 F7
CA 66 52 91 96 6F 76 AO B3 E6 AA A7 E0 43 54 4A
40 C0 4B 36 A8 01 135D 2D EA C3 D5 F6 91 89 F7
79 C8 27 456B C02834 C3C357C7083E5223
74 38 84 DE E1 F1 99 3C 0OA 51 E6 8C A1 69 8E 9B
9D 11 F7 CFAE94 C5DB C9CD CC5A AEB75551
96 A5 93 9E 1D DO 06 51

Encoded n



0301
Encoded L

01 00 02
Length of newX is <824>
newX is

01 08 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77
C1E33AAC94 D39CE4 616342 9A BC AC FA 99
2B BC 4986 7B 4E OD 7B A3 44 07 8E ED E9 BD 7E
84 21 67 9D ED 28 2A OE 50 CE E8 F1 18 36 1C 08
7595 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D
A0 CD E3 EE 6B 06 BF 30 FO F6 3D FF 39 15 A5 51
8F C8 03 01 01 00 02

Encoded N

01 605061 72 61 6C 6C 65 6C 48 61 73 68

Encoded S

01685061 7261 6C 6C 65 6C 20 44 61 74 61

bytepad data

01 AB 01605061 72616C 6C 656C 48 61 73 68
01685061 7261 6C 6C 65 6C 2044 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

About to Absorb data
State (in bytes)

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed

01 A8 01605061 72616C 6C 656C 48 61 73 68
01685061 7261 6C 6C 65 6C 2044 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

01 A8 01605061 7261 6C 6C 656C 48 61 73 68
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3
26 EO DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07
7A C288B187 EA AF 06 C1 D6 B55C D2 8D 7D 80
4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F
0A 7B 0576 7C 54 B7 B5 01 46 FE D2 37 24 55 2E
CE A3893B 57B220A8 CD DC 04 9C 68 F9 FE EE
7187 4611 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7
43 B53847 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41
72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3
BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38
75 D6 DO 8F 9E A9 A8 CC 72 D7 4D A3 F3 EO 06 05
B8 10 7B 0OC F8 D3 75 8C 09 3C 60 57 55 A4 70 F3
43 BD 8F 4A 7C D9 DD 25

about to call last of the absorb phase

About to Absorb data

State (in bytes)
9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3
26 EO DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07
7A C288B187 EA AF 06 C1 D6 B55C D2 8D 7D 80
4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F
0A 7B 0576 7C 54 B7 B5 01 46 FE D2 37 24 55 2E
CE A389 3B 57 B220A8 CD DC 04 9C 68 F9 FE EE
7187 46 11 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7
43 B53847 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41
72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3
BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38
75 D6 DO 8F 9E A9 A8 CC 72 D7 4D A3 F3 EO 06 05



B8 10 7B OC F8 D3 75 8C 09 3C 60 57 55 A4 70 F3
43 BD 8F 4A 7C D9 DD 25

Data to be absorbed
01 08 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77
C1E33AAC94 D39C E4 616342 9A BC AC FA 99
2B BC 4986 7B 4E OD 7B A3 44 07 8E ED E9 BD 7E
84 21 67 9D ED 28 2A OE 50 CE E8 F1 18 36 1C 08
75 95 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D
AO CD E3 EE 6B 06 BF 30 FO F6 3D FF 39 15 A5 51
8F C8 03 01 01 00 02 04 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
9F 27 27 19 75 7D 6E 3E 6E 66 0A D3 AD CA 20 94
E7 03 E502 79 DA 4A 85 CE CB D6 FD 02 1C DE 9E
517EC137FC A4 A2 7D 62 92 B2 D2 3F 64 CO FE
C869 FEB5DD C7 11 F1 C1 46 8E 1A 10 89 F6 67
7TFEEE3FFF821395D3F0DC1914B 7C 3773
6E 6E 6A D5 3C B4 9F 98 3D 2A 39 63 51 EC 5B BF
FE 4F 4510 5C 35 EC D1 E4 72 2C 6C 9F B5 0B F7
43 B5 38 47 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41
72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3
BB DC CB 35 A0 5F BO 04 4F 80 C3 DE 53 B4 42 38
75 D6 DO 8F 9E A9 A8 4C 72 D7 4D A3 F3 E0 06 05
B8 10 7B OC F8 D3 758C 09 3C 60 57 55 A4 70 F3
43 BD 8F 4A 7C D9 DD 25

After Permutation
FC 48 4D CB 3F 84 DC EE DC 35 34 38 15 1B EE 58
157D 6E FE DO 44 5A 81 F1 65 E4 95 79 5B 72 06
27 5D 3A AE 1F 40 A3 16 12 CB OA 32 ED 30 C6 22
0B 66 68 77 87 A1 DB 6A BE 3D 9F 38 92 FB 87 7B
70 AC EA 1563 F2 9F F3 D2 72 A1 8C 97 D2 0A 9E
DA 46 C4 08 59 87 C8 57 AB 9D 07 E4 63 FD 02 23
5E 5A FC 8F 01 24 61 BO 1E 40 96 4E 96 75 76 B7
A4 4E 00 84 51 6E 9D 79 58 BE 12 A0 57 80 E1 79
06 04 41 B7 6E C6 AF 78 21 F1 9C 82 25 6E E2 E2
2E 70 2E A4 37 89 AB E8 6B DO BF 16 16 05 57 F7
13 ED B9 88 8A 24 9E 30 46 1D 9B ED FB B0 71 15
D7 315808 1C 14 5D 40 18 75 11 A8 84 8E OE EO
7B CD AB 8CB1B23B B1

Outval is
FC 48 4D CB 3F 84 DC EE DC 35 34 38 15 1B EE 58
157D 6E FE DO 44 5A 81 F1 65 E4 95 79 5B 72 06




ParallelHash:
Sample #3

Security Strength: 128-bits

Length of data is 576-bits

Data is
000102030405060708090A0B 10111213
14151617 18 19 1A 1B 20 21 22 23 24 25 26 27
28 29 2A 2B 30 31 32 33 34 35 36 37 38 39 3A 3B
40 41 42 43 44 45 46 47 48 49 4A 4B 50 51 52 53
54 55 56 57 58 59 5A 5B

Block size (B) is 12
Requested output length is 256-bits

S (as a character string) is
"Parallel Data"

Encoded B
o1o0C
about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
00 01 02 03 04 05 06 07 08 09 OA OB 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

00 01 02 03 04 05 06 07 08 09 OA OB 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
15BC 36 AAF117 F4 FD AB 53 64 D5 DA 67 8C 2E
35 CE 09 50 A5 7C 1A 23 5E CC 83 OE CE 29 EC EE
44 6D A6 38 8D 23 93 1B 8A 43 4C 67 D1 2C 0A 57
1C 3D 34 0A 65 63 5D A0 B9 2E 95 76 78 D9 FF CA
FE EB 86 54 75 OE 90 OF 81 F8 39 ED A9 5E 50 8D
EC B1 40 05 FA D8 C9 60 CB 45 2D 90 0D 25 62 EO
Al 74 14 F8 A0 8F 78 01 98 E7 23 85 67 FE 60 DF
D6 85 75 DE 62 3D 69 44 E6 37 00 92 C7 76 OA D5
E8 47 D7 98 F4 70 07 7B CE 2D 50 D4 37 67 A9 E9
2D 71 7C 42 D6 79 5D 17 96 45 DF 3E FD D5 30 F6
CO9C9F804C8187D 7170 5F 80 D6 8A F4 F7 AB
3D 891D 9159 A4 3B C7 34 C3 94 1A D1 59 D5 4F
98 OE 2C 81 C7 09 F6 66

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
1011121314151617 18 19 1A 1B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

1011121314151617 1819 1A 1B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
FC 59 81 3E E8 4F 8E B9 B6 D7 4A 4A 2D 05 BB 8D
1E D7 4A 72 D2 81 F9 6A D1 F7 A0 6B FA 71 C2 45
0A 3939 B519 21 A89A 1B 39 AD 0B 86 34 3A EF
15 87 46 23 68 22 9C D8 A9 1F 9B 74 9E 44 39 9D
76 CO9 B6 B8 7E 13 42 DF 34 5B 3A 67 3B 57 AF 55
7D A3 FF 16 C4 CF 23 DF 39 6E 8E 2D D4 7F 07 79
99 00 E7 90 3A B7 D1 15 19 36 88 D9 F4 A4 C7 2F
C8 42 35 FO DO 66 64 45 3A 55 EF 54 45 7E A1 4D
CD E4 26 E2 E6 89 A6 43 36 4B 5B 8F 5A B6 C2 91
27 6E E6 D1 13 B0 42 4F 4E FA 8B FO 3D 46 1F 28
0A 88 C6 C2 67 4804 3D 2A D4 49 61 CB C7 DD 6B
A4 8C A3B101838ED18F511 DF C8B4 61 18 B3
83 79 FC 0C 99 C4 91 96

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
2021 22 23 24 25 26 27 28 29 2A 2B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

2021 22232425 26 27 28 29 2A 2B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
E31264 13ECF2E84543B2858032FD 71 2C
26 6C 2028 B1 FO 59 02 58 1B 40 14 D1 9A 15 CF
99 1D 82 F6 30 C7 26 2B 49 D8 54 CO CC EB 8F D5
BO 7C 5D C6 C2 82 6A A4 E8 56 57 7C 9B 8E 3C B8
FC DA 32 BE AF 3C 07 5B 44 BD 64 C4 55 D6 00 23
81 95 CD BC 6B 6B 52 42 8A A6 3B F2 2C C1 49 DD
D9 8F 3B E4 EE 46 1IE8C E1 B3 1D C2 27 A0 76 35
A7 EE 12 B1 43 06 A2 AD 87 A0 17 DD A0 59 7B A9
15 E8 EF 69 CF F2 42 2D D1 AC 8B 90 22 CD 29 BA
OE B9 DD 64 378517 AFEB E5 E7 1B 7E 09 57 CC
4F 63 84 3B 1F 2E 1D D5 38 A2 7C 7C 19 6A D2 B3
FF 15 33 0A 91 3C 69 B2 86 B9 8B 45 F5 04 1E 87
5F 34 D3 32 46 3B 4D CF

about to call last of the absorb phase



About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
3031 323334353637 3839 3A 3B 1F 000000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
3031 323334 3536373839 3A 3B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
F3 38 F2 D9 E9 91 CD 5E 41 E9 96 87 3B CF 6A F6
B3 C0 8B C0O 386E E224 2027 BC BD 58 5A 9D 32
21 30 AB C8 AC834DBOF75D88ACE942EA 71
9A 132D 30 4E 40 E8 09 OC FB F1 24 8B 81 B6 9F
92 A8 32 01 4A B4 EA 5D 5E FF EO 91 6E OC FF 93
EO 82 EF D8 49 BB 4D CA 63 AD 3F B7 29 OF BF F3



18 D3 2259 3F EAB4 2D EC E8 39 B2 38 81 E8 32
B2 DB 8004 C6 89 E4 47 AF 8573 10 D3 6A 5D 61
99237F8D514B 503151 1DDEBB6F 122171
FF 06 81 3A 48 2D 24 B5 A4 34 1A 4E C358 33 D1
0D 77 82 4A 97 66 45 45 8D 91 1D 60 7A 2A 24 0C
CF79B0423E7FA4B8522C 14 E792C7 7C 0D
C7 AD CA 84 44 F7 DC 87

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00




00 00 00 00 00 00 00 00

After Permutation
FA B1 AO DA A8 A3 52 8C 7F BA 60 C8 57 47 91 87
60 E1 46 69 FO 2D 96 F9 C5 3D 71 E9 8A A5 CD D5
E8 OB 15 F6 OE 7E 00 E1 5B 81 44 F8 60 50 D2 BA
3A D6 28 01 DE CD 95 DF 5A CF 14 FA 2E 80 DD 98
08 BE F8 FD 07 5A 69 4A AA CE 90 DB DB B5 52 92
59B8884491 10 BA3ECD 1C 37 DD 69 19 9E 72
24 1F DA AF 00 A8 8B A9 76 C3 0D 94 FF F2 10 98
827D DC 97 1B D9 DE F7 A14981 B3 C93C B9 A4
34 2E 7B 25 3599 A3 1F 5B 2F F1 5F E3 EC DA B8
D417 AC91 12 3B 3748 6C 42 2D 2F 3D 4F 82 A3
13 B2 D6 4B OE 9C A0 54 29 18 36 5C 47 BA FD 85
57 1D 5B 9C 7594 8B 11 FO 81 BD D9 20 3A 2A 5D
77 4F E8 B505 C8 71 82

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
60 A1 F3 3D FA FE 48 E4 83 09 OD 46 A0 53 34 B3
44 BB 8F AF 3A 11 C9 3E 2A OE C7 CC CC FF 28 E5
CF 09 91 6E CC 40 B3 D6 9D 9E 4E EC 4A FB OE DF
FO 5D FF 1E F4 BF 2C 1B 8955 28 C0O 8C 1B BB 26
6A A5B17A 714C DO 46 E2 1D C8 8E 82 13 67 33
6C 10 B4 FO 03 FD E4 D8 1F A0 5D 45 E3 DE 61 17
395342085D35601D A1 11 4F 1313 EO0 C53A
5A D6 2B EE 10 DE 2F F8 A9 F3 5C 29 A0 43 28 03
60 93 C0 47 30 76 87 OE 4F A9 F6 62 08 69 41 D5
95 9B B4 FE 7D 07 5A 4C 43 45 A2 F5 A3 68 3A 76
FD0180F8CEE2ACCC 77 25C399 F4 CC 93 D6
C550 BA 08 55 42 94 OF 08 B6 81 68 D2 63 2C F6
52 FE 7B 83 FC 69 98 9D

Encoded n
06 01

Encoded L
01 00 02

Length of newX is <1592>

newX is
010C15BC 36 A4 F1 17 F4 FD AB 53 64 D5 DA 67
8C 2E 35 CE 09 50 A5 7C 1A 23 5E CC 83 OE CE 29
EC EE FC 59 81 3E E8 4F 8E B9 B6 D7 4A 4A 2D 05
BB 8D 1E D7 4A 72 D2 81 F9 6A D1 F7 AO6B FA 71
C245E31264 13ECF2E84543B2858032FD
712C 26 6C 2028 B1 FO 59 02 58 1B 40 14 D1 9A
15CFF338F2D9 E9 91 CD 5E 41 E9 96 87 3B CF
6A F6 B3 C0O 8B C0O 38 6E E2 24 20 27 BC BD 58 5A
9D 32 FA B1 A0O DA A8 A3 52 8C 7F BA 60 C8 57 47
91 87 60 E1 46 69 FO 2D 96 F9 C5 3D 71 E9 8A A5
CD D560 A1 F3 3D FA FE 48 E4 83 09 0D 46 A0 53
34B344 BB 8F AF3A 11 C93E2A OE C7 CCCCFF
28 E5 06 01 01 00 02

Encoded N
01 605061 72 61 6C 6C 65 6C 48 61 73 68

Encoded S
01685061 72 61 6C 6C 65 6C 2044 61 74 61

bytepad data
01 A801 605061 7261 6C 6C 656C 4861 73 68
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
01 A8 01 605061 7261 6C 6C 65 6C 48 61 73 68
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
01 A8 01605061 7261 6C 6C 65 6C 48 61 73 68
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3
26 EO DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07
7A C288B1 87 EA AF 06 C1 D6 B55C D2 8D 7D 80
4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F
OA 7B 0576 7C 54 B7 B501 46 FE D2 37 24 55 2E
CE A3 89 3B 57 B2 20 A8 CD DC 04 9C 68 F9 FE EE
7187 46 11 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7
43 B538475C 57 AC050B 86 83 CF97 E1 AA 41
72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3
BB DC CB 35 A0 5F BO 04 4F 80 C3 DE 53 B4 42 38
75 D6 DO 8F 9E A9 A8 CC 72 D7 4D A3 F3 EO 06 05
B8 10 7B OC F8 D3 75 8C 09 3C 60 57 55 A4 70 F3
43 BD 8F 4A 7C D9 DD 25

About to Absorb data

State (in bytes)
9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3
26 EO DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07
7A C288B187 EA AF 06 C1 D6 B55C D2 8D 7D 80
4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F
OA 7B 0576 7C 54 B7 B5 01 46 FE D2 37 24 55 2E
CE A3893B57B220A8 CD DC 04 9C 68 F9 FE EE
7187 46 11 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7
43 B538475C 57 AC050B 86 83 CF97 E1 AA 41
72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3
BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38
75 D6 DO 8F 9E A9 A8 CC 72 D7 4D A3 F3 EO 06 05
B8 10 7B OC F8 D3 75 8C 09 3C 60 57 55 A4 70 F3
43 BD 8F 4A 7C D9 DD 25

Data to be absorbed
010C15BC 36 A4 F117 F4 FD AB 53 64 D5 DA 67
8C 2E 35 CE 09 50 A5 7C 1A 23 5E CC 83 OE CE 29
EC EE FC 59 81 3E E8 4F 8E B9 B6 D7 4A 4A 2D 05
BB 8D 1E D7 4A 72 D281 F9 6A D1 F7 AO6B FA 71
C245E31264 13ECF2E84543B2858032FD
712C 26 6C 2028B1 F059 0258 1B 40 14 D1 9A
15 CFF338F2D9 E991 CD5E 41 E9 96 87 3B CF
6A F6 B3 C0O 8B C0O 38 6E E2 24 20 27 BC BD 58 5A
9D 32 FA B1 A0O DA A8 A3 52 8C 7F BA 60 C8 57 47
91 87 60 E1 46 69 FO 2D 96 F9 C5 3D 71 E9 8A A5
CD D5 60 A1 F3 3D FA FE 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
9F 23 1C 02 E3 B9 84 B5 C6 2F BF C6 56 9A BA 84
AA CE EA 60 E4 59 73 1D B5 8B CA AB 3D BE EA 2E
96 2C 74 E8 06 D4 47 49 4F 6F 03 8B 98 C7 50 85




F7 C587FF 7TA9D EQ TE68 E2 B7 1C A8 D4 10 1E
C8 3EE6 64 18 47 5B 47 E9Q 03 BD 60 B2 A4 67 D3
BF 8F AF 57 77 9A 91 58 94 DE 5C 87 28 ED 2F 74
64 48 B5 29 AF EC 07 44 29 2C 6D 85 09 32 30 38
2943 8B 87 D7 97 94 6B E9Q A2 A3 E8 2B 5C F2 1B
EF 3A AA91 13 3F A416 09 36 51 12 1C A5 4F E4
2A 5B AB D4 E6 36 40 29 D9 79 06 E3 22 5D C8 9D
B8 03 BO 2E 6D 94 52 32 72 D7 4D A3 F3 EO 06 05
B8 10 7B 0OC F8 D3 75 8C 09 3C 60 57 55 A4 70 F3
43 BD 8F 4A 7C D9 DD 25

After Permutation
61 C6 F7 78 46 ED 4F 16 EA 62 6D 73 89 24 B6 07
80 66 45 2B CD 855D 92 44 A6 69 F9 BB 53 C7 88
C7 1E 703051 77 34 9C DA E2 6F AF 51 EE DC 66
D995 1A B934 C2C1F59A 78 EB 23 7586 24 FC
DO AB C4 5362 1E D1 4E D5 DD 6D E8 80 A8 DF 72
BC 57 8A A6 26 D9 98 6C AF EO CF 5B 5E 18 23 52
OD 11 E4 D4 OF 6C A4 D7 2294 29 47 44 3F 9E 8C
39 51 56 5A CD 35 OE DA 92 55 85 6B C9 D3 E9 OA
CD 98 4D 01 E4 00 AC 2C 63 2E D3 F8 CF 18 13 A9
80 1D 8B B2 17 14 5E 18 18 B8 11 89 62 C2 D6 CB
3AA1641D4FE951 BB 39 C1 AA 3347 9A DB AB
67 2B C4 25 B4 83 65 2A 16 3B F9 C3 51 76 01 4C
E2 F3 2F 8C 83 5D A5 CA

about to call last of the absorb phase

About to Absorb data

State (in bytes)
61 C6 F7 78 46 ED 4F 16 EA 62 6D 73 89 24 B6 07
8066 45 2B CD 855D 92 44 A6 69 F9 BB 53 C7 88
C7 1E 703051 77 34 9C DA E2 6F AF 51 EE DC 66
D9951A B934 C2C1F59A 78 EB 237586 24 FC
DO AB C4 53 62 1E D1 4E D5 DD 6D E8 80 A8 DF 72
BC 57 8A A6 26 D9 98 6C AF EO CF 5B 5E 18 23 52
0D 11 E4 D4 OF 6C A4 D7 22 94 29 47 44 3F 9E 8C
3951 56 5A CD 35 OE DA 92 55 85 6B C9 D3 E9 OA
CD 98 4D 01 E4 00 AC 2C 63 2E D3 F8 CF 18 13 A9
801D 8B B2 17 145E 1818 B8 118962 C2 D6 CB
3A A164 1D 4F E951 BB 39 C1 AA 33 47 9A DB AB
67 2B C4 25 B4 83 65 2A 16 3B F9 C3 51 76 01 4C
E2 F3 2F 8C 83 5D A5 CA

Data to be absorbed
48 E4 83 09 OD 46 A0 53 34 B3 44 BB 8F AF 3A 11
C93E2AOEC7CCCCFF28E5060101000204
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
29227471 4B AB EF 45 DE D1 29 C8 06 8B 8C 16
49 58 6F 25 0A 49 91 6D 6C 43 6F F8 BA 53 C5 8C
C71E 70305177 349C DA E2 6F AF 51 EE DC 66
D995 1A B934 C2C1F59A 78 EB 23 7586 24 FC
DO AB C4 53 62 1E D1 4E D5 DD 6D E8 80 A8 DF 72
BC 57 8A A6 26 D9 98 6C AF EO CF 5B 5E 18 23 52
OD 11 E4 D4 OF 6C A4 D7 2294 29 47 44 3F 9E 8C
39 51 56 5A CD 35 OE DA 92 55 85 6B C9 D3 E9 OA
CD 98 4D 01 E4 00 AC 2C 63 2E D3 F8 CF 18 13 A9
801D 8B B217145E1818B8 118962 C2 D6 CB
3AA1641D4FE9513B 39 C1 AA33479A DB AB
67 2B C4 25 B4 83 65 2A 16 3B F9 C3 51 76 01 4C
E2 F3 2F 8C 83 5D A5 CA

After Permutation
F7 FD 53 12 89 6C 66 85 C8 28 AF 7E 2A DB 97 E3
93 E7 F8 D5 4E 3C 2E A4 B9 5E 5A CA 37 96 E8 FC
DB F1 B0 69 CC 51 CE EC D7 00 4B 88 90 DA 33 ED
C1B193938493 D9 F86C 05 2B 68 23 EO 8B 5E
3155 FD A1 1F 96 97 91 28 FC 5B C5 D7 46 A4 AB
B5 F5 E4 51 C8 4D 48 AF 73 1F 4E BE 6B AD 12 2D
122FFC 7709 D5 03 62 E7 02 92 2D 37 73 EA 58
8D C6 6C ED CF C8 03 D3 15 67 FO 84 3A FB D2 5C
77 71 CB 13 53 88 46 9F 44 A8 4D 9E 64 04 F4 43
7B 2A 7C 7D 4D 1D AD 47 A8 AD E9 A0 23 1D F3 2C
2A05E9F7 58 FE4F 12 17 487261 838 F7 C8 14
67 8E 7C 25 1E 5D 4F 91 5A 35 61 91 5B C3 89 63
90 44 27 8D C6 07 94 75

Outval is
F7 FD 53 12 89 6C 66 85 C8 28 AF 7E 2A DB 97 E3
93 E7 F8 D5 4E 3C 2E A4 B9 5E 5A CA 37 96 E8 FC

ParallelHash:
Sample #1

Security Strength: 256-bits

Length of data is 192-bits

Datais
00010203040506071011121314151617
20 21 22 23 24 25 26 27

Block size (B) is 8



Requested output length is 512-bits

S (as a character string) is
“(null)"

Encoded B
0108

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
00 01 02 03 04 05 06 07 1F 00 00 OO 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED 53 90
1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD 50 58
142C 63 B0B548E296 C37F 897267 7B 7F AF
0C 22 BF85BF9C 89 1C 1B 91 F6 91 84 D8 B6 DE
9A 32B15E 2899 12 CA73 1A 125C 15 FA 69 40
3CB31158F7 D6 159A E3 E207 78 B5 9A 6F 43
EE 3E 27 34 7D 5E C2 38 B7 C3 A2 98 12 40 64 87
96 2C 23 9A 40 BC F9 C4 1E B2 85 CA A4 CD 27 OE
F7 CC AB 33 46 05 21 6D 20 5F 44 9F 30 B4 BF 3D
5306 6C 1B 81 CO 6D 08 10 2C F5 3144 51 CD CO
AlEL1DFF91772 A4 EQ03D 3ACF 7265 7C 74 D7
32E39095343B D462 CFECS5F7D8EB217 79
6E 07 C6 B2 61 05 32 B7

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
10111213 141516 17 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
1011121314 1516 17 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66 E6 C2
A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F 29 FB
DCO5E8C3010B E322C307 77 CAOD 8C A6 67
A30382B69A 49 A157 27 4A A462 D59C C8E1
87 5E 0C C3 20 45 C0 92 04 AA C2 A6 AF 02 D3 AA
8C 28 C949F9 C609 3189 A0 7F 27 DE 0D B3 02
E5 4D E1 AE 28 FB D4 05 D0 38 30 02 7B AD 36 4C
4A 93 EE AE 1B BD 5B F5 86 7F EF 6F 05 71 OA 9E
CA FA A2 2054 A6 46 57 4381 C9 C2 D8 2B F5 50
2C4A 6E D5 6E F4 68 BF 6C 125C EF 7134 73 13
EO 6C A7 2F F2 BE OD 61 41 77 20 D6 C5 13 28 A3
EO 1A 87 1D DF B7 7594 47 OE 83 E9 36 0A 77 1E
87 47 2F 45 E9 28 58 CA

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
202122 2324 252627 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
81 BD FC 2D 48 E0 97 89 68 B3 1C E7 85 FE 36 C7
CC 6B 4130234F D6 7C51 DA5SDFB 7C 81 68 7A
2806 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA 8D 5E
91 B3 96 2E EA 48 BD B7 F2 C8 94 FA 52 00 D3 AC
06 6A C1 E5 2512 DC 6B B6 8F 42 3E F4 F4 C9 4E
E5 3D DF E1 AB A1 DC 26 02 21 OB 4D 99 88 52 4C
06 AC 8574 C7 6523 F9 A6 69 31 16 9C 8A 02 6E
C3 A9831D65E646 C7 9D FF 99 20 D1 A6 D6 75
F8 4B A7 20 38 CA 2E ED C1 69 B2 42 DA 66 2B A8
26 60 C7 34 9E 3C 1F 1595 47 C5 AC C0 B5 4A D7
B7 C8 7B F8 69 09 3AFB D4 CA2C 4D 1E 7B 1C 9D
5C 31 C7BC CB C4C49C 56 4E 6C 2B 07 49 2A 6E
0197 01 1A EE 27 74 BB

Encoded n
0301

Encoded L
02 00 02

Length of newX is <1592>

newX is
01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED
5390 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD
505814 2C 63 B0OB548E296 C3 7F 897267 7B
7F AF 0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8
B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66
E6 C2 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F
29FB DCO5E8C3010B E322C30777CAOQDS8C
A6 67 A30382B6 9A 49 A1 57 27 4A A4 62 D5 9C
C8E181BDFC 2D 48 E097 8968 B3 1C E7 85 FE
36 C7CC6B 4130234F D6 7C51 DA5SDFB 7C 81



68 7A 28 06 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA
8D 5E 91 B3 96 2E EA 48 BD B7 F2 C8 94 FA 52 00
D3 AC 03 01 02 00 02

Encoded N
01605061 72 61 6C 6C 65 6C 48 61 73 68

Encoded S
01 00

bytepad data
018801605061 7261 6C 6C 65 6C 48 61 73 68
01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
018801605061 72616C6C 656C 4861 73 68
01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
018801605061 72616C6C656C 4861 7368
01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
70 BA DC 22 9E 10 00 1C 0OC BA 38 8D 6F F6 80 B3
F2 FC B8 27 FFEC 61 CAB2 E2 E9 27 OC 6C A2 77
B8 CEF8 C8 090D 329D 77 C6 16 94 CD 1C 4F 50
3C 5D B2 75 DF 70 9B OA EC 08 53 98 F7 2B EO OC
D094 E0 34 BD 8C 9F C4 EC A981 1B C2 EC 08 5A
82 2E079E BB 39 EC D8 A0OB1 12 77 73 36 EB 5A
A3 A1F1ED176BB195B3 71 AC520F 04 CAC1
16 7A B7 0C AD 334F 00 06 F3 1A 10 0C 5D B1 A5
AE CO 6F 6A 1C DA 33 5A CO A6 25 D5 F5 25 8D E9
79 FE F3 96 07 00 A5 DE 64 D8 E6 F7 95 4E D1 93
87 EB 7B AC A946 9C B9 B3 E3 3B 1750 D2 82 5D
1C CD 1E 2D 97 97 A5 B8 BB 1D 1A C1 55 F7 8F 29
17 A12D 3B 213D 2333

About to Absorb data

State (in bytes)
70 BA DC 22 9E 10 00 1C 0OC BA 38 8D 6F F6 80 B3
F2 FC B8 27 FFEC 61 CAB2 E2 E9 27 0C 6C A2 77
B8 CEF8 C8 090D 329D 77 C6 16 94 CD 1C 4F 50
3C 5D B2 75 DF 70 9B OA EC 08 53 98 F7 2B EO OC
D094 E0 34 BD 8C 9F C4 EC A981 1B C2 EC 08 5A
82 2E079E BB 39 EC D8 A0 B1 12 77 73 36 EB 5A
A3A1F1ED176BB195B3 71 AC520F04 CAC1
16 7AB7 0C AD 334F 0006 F31A 10 0C 5D B1 A5
AE CO 6F 6A 1C DA 33 5A CO A6 25 D5 F5 25 8D E9
79 FE F3 96 07 00 A5 DE 64 D8 E6 F7 95 4E D1 93
87 EB 7B AC A9 46 9C B9 B3 E3 3B 17 50 D2 82 5D
1C CD 1E 2D 97 97 A5 B8 BB 1D 1A C1 55 F7 8F 29
17 A12D 3B 213D 2333

Data to be absorbed
01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED
5390 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD
5058 14 2C 63 B0OB548 E296 C3 7F 897267 7B
7F AF0C 22 BF 85 BF9C 89 1C 1B 91 F6 91 84 D8
B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66
E6 C2 A2 2A 89 BE 4A EC DF Al F6 6F 4D 04 97 3F
29FBDCO5E8C3010B E322C30777CAO0ODS8C
A6 67 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C
C8 E181BD FC 2D 48 EO 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
71 B2 68 6F 30 83 F2 2A 00 F3 2C 77 F6 69 BA 5E
Al 6C A5 60 5E 5A 75 DA 2C A9 12 CF A9 F9 77 AA
E8 96 EC E4 6A BD 87 D5 95 50 D5 EB 44 6E 28 2B
43 F2 BE 57 60 F5 24 96 65 14 48 09 01 BA 64 D4
66 4A E5 9A F4 5588 C1 02 FADA F2 6D CA 87 3C
64 EC A5 B4 3287 A6 34 7F 10 E4 18 3E 32 7C 65
8A 5A 2D E8 FF A8 B0 9E 50 53 6F 55 78 CE C7 4D
BO 1D 14 OF 2F 85 D5 49 A7 A4 3D 5A A8 3F 64 39
66 21 EE D7 EO F7 7B BA CO A6 25 D5 F5 25 8D E9
79 FE F3 96 07 00 A5 DE 64 D8 E6 F7 95 4E D1 93
87 EB 7B AC A9 46 9C B9 B3 E3 3B 17 50 D2 82 5D
1C CD 1E 2D 97 97 A5 B8 BB 1D 1A C1 55 F7 8F 29
17 A1 2D 3B 21 3D 23 33

After Permutation
749D 13 B1 8299 16 82 E5 1D 05 18 OE 40 50 15
28 8C OB 7E 86 6E BO F6 AD 44 F1 22 D6 A9 E1 A9
FE 31 AB 60 D5 8F 2B 3252 B3 51 CD 59 BB B9 87
33A7D047981CC1F2277EB819CD 479271
099D 0531 E4FF543E2AECE4627171E9FO
E5E26B C52035F1D4B32C32CE91713584
30C6 0F 52 BC 15 C0CB B9 0C 2B BA A9 9A 50 B2
FA 25 F6 AF CE 38 92 17 59 E6 5A 93 98 82 E3 50
6C 68 E1 D2 A2 30 DA 10 47 E6 3E E3 D9 44 6D 82
E5 FD B6 E2 4A 1A B7 DF OE D6 26 CD 69 B2 7A EF
FA 22 6E 1F AF 34 39 02 A8 B0 38 08 DE 5A FF D3
E1 E187 D2 15 E8 A8 8B 33 48 58 BO 09 C3 8E FC
0D 0B 46 CA 50 59 38 22

about to call last of the absorb phase

About to Absorb data

State (in bytes)
749D 13 B1 8299 16 82 E5 1D 05 18 OE 40 50 15
28 8C 0B 7E 86 6E BO F6 AD 44 F1 22 D6 A9 E1 A9
FE 31 AB 60 D5 8F 2B 32 52 B3 51 CD 59 BB B9 87
33A7D047981CC1F2277EB819CD 479271
099D 0531 E4FF543E2AECE4627171E9FO
E5E26B C52035F1D4B32C32CE91713584
30 C6 OF 52 BC 15 CO CB B9 0C 2B BA A9 9A 50 B2
FA 25 F6 AF CE 38 92 17 59 E6 5A 93 98 82 E3 50
6C 68 E1 D2 A2 30 DA 10 47 E6 3E E3 D9 44 6D 82
E5 FD B6 E2 4A 1A B7 DF OE D6 26 CD 69 B2 7A EF
FA 22 6E 1F AF 34 39 02 A8 B0 38 08 DE 5A FF D3
E1 E187 D2 15 E8 A8 8B 3348 58 BO 09 C3 8E FC
OD 0B 46 CA 50 59 38 22

Data to be absorbed



978968 B3 1C E7 85 FE 36 C7 CC 6B 41 30 23 4F
D6 7C 51 DA 5D FB 7C 81 68 7A 28 06 12 3D 2D ED
47 E4 CD E9 61 A4 48 EA 8D 5E 91 B3 96 2E EA 48
BD B7 F2 C8 94 FA 52 00 D3 AC 03 01 02 00 02 04
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
E3 14 7B 02 9E 7TE 93 7C D3 DA C9 73 4F 70 73 5A
FEFOS5A AADB 95 CC 77 C53E D924 C494 CC 44
B9 D5 66 89 B4 2B 63 D8 DF ED CO 7E CF 95 53 CF
8E 10 22 8F OC E6 93 F2 F4 D2 BB 18 CF 47 90 75
099D 0531 E4FF543E2AECE462 7171 E9FO
ESE26B C52035F1 D4B32C32CE91713584
30 C6 0OF 52 BC 15 C0 CB B9 0C 2B BA A9 9A 50 B2
FA 25 F6 AF CE 38 92 17 59 E6 5A 93 98 82 E3 50
6C 68 E1 D2 A2 30 DA 90 47 E6 3E E3 D9 44 6D 82
E5 FD B6 E2 4A 1A B7 DF OE D6 26 CD 69 B2 7A EF
FA 22 6E 1F AF 34 39 02 A8 B0 38 08 DE 5A FF D3
E1 E187 D2 15 E8 A8 8B 3348 58 BO 09 C3 8E FC
OD 0B 46 CA 50 59 38 22

After Permutation
BC 1E F1 24 DA 34 49 5E 94 8E AD 20 7D D9 84 22
35DA 432D 2B BC54B4 C110E64C 45110553
1B 7F2A 3EOC E055C0 2805 E7 C2 DE 1F B7 46
AF 97 A1 DD 01 F4 3B 82 4E 31 B8 76 1241 04 29
F3 1EB35ABD 7F F9 87 43 79 D2 8D 16 4D BB A7
A4 1E BC C6 14 B4 A0 26 27 D7 1B BE CC E4 BA AA
04 2D 9C A7 41 A460C6 79 12 D1 C3 89 26 22 6D
42 9A 0761 1D 3B 242394 4CE7F90D 42 0B 72
135C B2 9E A8 BB 79 AF 61 6F 4B DD F1 C4 A7 85
3CF3E9B43A1C98E4E1FB 28 FE C2 86 79 C1
4D F8 26 54 D2 33 46 7C 45 F9 63 4A 96 9C 45 00
65 7B 76 88 3A C3 77 A4 3B 32 2B D2 84 DD 07 1A
6B 87 32 D5 8E 74 AF 15

Outval is
BC 1E F1 24 DA 34 49 5E 94 8E AD 20 7D D9 84 22
35DA 432D 2B BC54B4 C110E64C 45110553
1B 7F 2A 3EOQOC E0 55 C0 28 05 E7 C2 DE 1F B7 46
AF 97 A1 DD 01 F4 3B 82 4E 31 B8 76 12 41 04 29

ParallelHash:



Sample #2

Security Strength: 256-bits

Length of data is 192-bits

Datais
000102030405060710111213141516 17
20 21 22 23 24 25 26 27

Block size (B) is 8

Requested output length is 512-bits

S (as a character string) is
"Parallel Data"

Encoded B
0108
about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
0001 020304 0506 07 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
0001020304 0506 07 1F 00 00 00 00 00 00 OO0



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
B4 4D AE 93 F2 36 OC 49 14 FA 99 9F 3A ED 53 90
1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD 50 58
14 2C 63 BOB548E296 C3 7F 8972 67 7B 7F AF
0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8 B6 DE
9A 32 B15E 2899 12 CA 73 1A 12 5C 15 FA 69 40
3CB31158F7 D6 159A E3 E2 07 78 B5 9A 6F 43
EE3E 2734 7D5E C238B7 C3 A298 12 40 64 87
96 2C 23 9A 40 BC F9 C4 1E B2 85 CA A4 CD 27 OE
F7 CC AB 33 46 05 21 6D 20 5F 44 9F 30 B4 BF 3D
5306 6C 1B 81 CO6D 08 10 2CF5314451CD CO
A1E1DFF9 1772 AAE0O3D 3ACF72657C 74 D7
32E39095343B D462 CFEC5F7D8EB217 79
6E 07 C6 B2 61 05 32 B7

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
10111213 141516 17 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

1011121314 1516 17 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66 E6 C2
A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F 29 FB
DCO5E8C3010B E322C307 77 CAOD 8C A6 67
A3 03 82B6 9A 49 A1 57 27 4A A4 62 D5 9C C8 E1
87 5E 0C C3 20 45 C0 92 04 AA C2 A6 AF 02 D3 AA
8C 28 C949F9 C609 3189 A0 7F 27 DE 0D B3 02
E5 4D E1 AE 28 FB D4 05 D0 38 30 02 7B AD 36 4C
4A 93 EE AE 1B BD 5B F5 86 7F EF 6F 05 71 OA 9E
CA FA A2 2054 A6 46 57 4381 C9 C2 D8 2B F5 50
2C 4A 6E D5 6E F4 68 BF 6C 12 5C EF 71 34 73 13
EO 6C A7 2F F2 BEOD 61 41 77 20 D6 C5 13 28 A3
EO 1A 87 1D DF B7 75 94 47 OE 83 E9 36 0A 77 1E
87 47 2F 45 E9 28 58 CA

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00

After Permutation
81 BDFC 2D 48 E0 978968 B3 1C E7 85 FE 36 C7
CC6B 4130234FD6 7C51DA5SDFB 7C 8168 7A
28 06 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA 8D 5E
91 B3 96 2EEA 48 BD B7 F2 C8 94 FA 52 00 D3 AC
06 6A C1 E5 2512 DC 6B B6 8F 42 3E F4 F4 C9 4E
E5 3D DF E1 AB A1 DC 26 02 21 0B 4D 99 88 52 4C
06 AC 8574 C7 6523 F9 A6 69 31 16 9C 8A 02 6E
C3 A983 1D 65 E646 C7 9D FF 99 20 D1 A6 D6 75
F8 4B A7 20 38 CA 2E ED C1 69 B2 42 DA 66 2B A8
26 60 C7 34 9E 3C 1F 1595 47 C5 AC C0 B5 4A D7
B7 C8 7B F8 69 09 3A FB D4 CA 2C 4D 1E 7B 1C 9D
5C 31 C7BC CB C4 C49C 56 4E 6C 2B 07 49 2A 6E
019701 1A EE 27 74 BB

Encoded n
0301

Encoded L
02 00 02

Length of newX is <1592>

newx is



01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED
5390 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD
5058 14 2C 63 BOB548 E296 C3 7F 897267 7B
7F AF0C 22 BF 85 BF9C 89 1C 1B 91 F6 91 84 D8
B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66
E6 C2 A2 2A 89 BE 4A EC DF Al F6 6F 4D 04 97 3F
29FB DCO5E8C3010B E322C30777CAO0ODS8C
A6 67 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C
C8E181BDFC 2D 48E0978968B3 1CE7 85 FE
36 C7TCC6B 4130234F D6 7C51 DA5SDFB 7C 81
68 7A 28 06 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA
8D5E91 B3 96 2EEA 48BD B7 F2 C894 FA 52 00
D3 AC 03 01 02 00 02
Encoded N
01 605061 72 61 6C 6C 65 6C 48 61 73 68
Encoded S
01 685061 7261 6C 6C 656C 2044617461
bytepad data
018801605061 7261 6C 6C 65 6C 48 61 73 68
01 685061 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
About to Absorb data
State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
018801605061 7261 6C 6C 65 6C 48 61 73 68
01 68 5061 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

018801605061 72616C 6C 656C 4861 73 68
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
01 33 43 40 OA OF 02 59 DF AD 3D D3 6B 30 8E C2
0C B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C
18 ES 58 FE 2B OE 9B 73 CB 74 D1 A9 C7 F2 7C F8
5A 91 6C DO OA E6 DE 28 92 0B B1 DA 4B 54 B5 1E
DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95
B2 F4 4A FD DO 85 1D 43 85 DD 6E 57 59 1E CB 90
E6 64 FE 27 CE 63 6A 18 35 70 C9 A5 D3 70 59 B7
88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92
99 58 C9 E8 FF 56 88 AF 51 3C 82 FC 18 8B 89 E3
8E 82 C5 36 E7 3A 2E 70 FO 9A 64 6B 08 4C F4 7C
B8 CO E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88
5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C
30 29 9A DE DO 0B 10 BO

About to Absorb data

State (in bytes)
01 33 43 40 OA OF 02 59 DF AD 3D D3 6B 30 8E C2
OC B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C
18 ES 58 FE2B OE9B 73 CB 74 D1 A9 C7 F2 7C F8
5A 91 6C DO OA E6 DE 28 92 0B B1 DA 4B 54 B5 1E
DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95
B2 F4 4A FD DO 85 1D 43 85 DD 6E 57 59 1E CB 90
E6 64 FE 27 CE 63 6A 18 35 70 C9 A5 D3 70 59 B7
88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92
99 58 C9 E8S FF 56 88 AF 51 3C 82 FC 18 8B 89 E3
8E 82 C5 36 E7 3A 2E 70 FO 9A 64 6B 08 4C F4 7C
B8 CO E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88
5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C
3029 9A DE DO OB 10 BO



Data to be absorbed
01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED
5390 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD
5058 14 2C 63 B0OB548E296 C3 7F 897267 7B
7F AF0C 22BF85BF9C 89 1C 1B 91 F6 91 84 D8
B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66
E6 C2 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F
29FBDCO5E8C3010BE322C30777CAO0ODS8C
A6 67 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C
C8E181BD FC 2D 48 EO 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
00 3B F7 OD A4 9C FO 6F D3 E4 29 29 F2 AF B4 2F
5F 28 F4 9C DF 23 4C 45 D0 3F 10 C5 A4 50 8D 41
48 B0 4C D2 48 BE 2E 3B 29 E2 12 D6 4E 80 1B 83
253E60F2B56361B41B 17 AA4B BD C5 31 C6
6C AEBD 670D F37A5C D3 F9F332D29B 61 F3
54 36 E8 D7 59 3B 57 AF 5A 7C 98 38 14 1A 5C AF
CF9F 22 22 26 A0 6B 13 D6 52 0A A2 A4 BA 54 3B
2EC421301CD8FDE7 74 9F 7313 B1 7B 8A OE
51 B9485503 7B CO4F 51 3C82FC 188B 89 E3
8E 82 C536E73A2E 70 FO9A 64 6B 084C F47C
B8 COE5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88
5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C
3029 9A DE DO OB 10 BO

After Permutation
A8 7D 60 CA 4952 76 79 8F 16 60 C6 A7 8F AF B8
C3 8F 10 F6 C6 9B A3 A2 F9 CC 0D BO 1F FO 8A EA
BE DO AC3345B3F5D4 75 3A E7 AA80DC 12 E5
D1 329D C7 FA 98 FC A1 01 C6 33 1D 07 OE 6C DE
B0 457841 B3 B5FD 2F 08 19 D2 B6 D2 C7 39 B1
2C CC 27 2D 9F 30 5D 63 A6 24 3D 71 A9 40 84 9D
29 18 OA FD 57 92 1E DO DO 48 EF 88 CE 6F B3 7E
E5 FB 32 5A 4F 34 54 25 CA 35 9A 0C 15 AE 5B AF
69 D5 4C E4 1D 63 00 C4 05 1C 8A 05 6C BD CA FC
97 90 BF 7D 67 C4 69 85 OE 5D CO DD 3E 54 5D 3C
1356 A7 EC AC 92 24 CE D8 05 A0 OF 1A 6B BE D9
60 B8 EF 14 57 3F DA A6 78 E8 DD 9C 12 F3 47 9F
6E AA 7B C6 8B 6D B9 CE

about to call last of the absorb phase

About to Absorb data

State (in bytes)
A8 7D 60 CA 4952 76 79 8F 16 60 C6 A7 8F AF B8
C38F10F6 C69B A3 A2F9 CC 0D BO 1F FO 8A EA
BE DO AC 3345B3F5D4 75 3A E7 AA 80 DC 12 E5
D1 329D C7 FA98 FC A1 01 C6 33 1D 07 OE 6C DE



B0457841 B3 B5FD2F 08 19D2B6 D2 C7 39 B1
2C CC 27 2D 9F 305D 63 A6 24 3D 71 A9 40 84 9D
29 18 OA FD 57 92 1E DO DO 48 EF 88 CE 6F B3 7E
E5 FB 32 5A 4F 34 54 25 CA 35 9A 0C 15 AE 5B AF
69 D5 4C E4 1D 63 00 C4 05 1C 8A 05 6C BD CA FC
97 90 BF 7D 67 C4 69 85 OE 5D C0O DD 3E 54 5D 3C
1356 A7 EC AC 92 24 CE D8 05 A0 OF 1A 6B BE D9
60 B8 EF 14 57 3F DA A6 78 E8 DD 9C 12 F3 47 9F
6E AA 7B C6 8B 6D B9 CE

Data to be absorbed
97 8968 B3 1C E7 85 FE 36 C7 CC 6B 41 30 23 4F
D6 7TC51 DASDFB 7C 8168 7A 2806 12 3D 2D ED
47 E4 CD E9 61 A4 48 EA 8D 5E 91 B3 96 2E EA 48
BD B7 F2 C8 94 FA 52 00 D3 AC 03 01 02 00 02 04
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
3F F4 08 79 55 B5 F3 87 B9 D1 AC AD E6 BF 8C F7
15 F3 41 2C 9B 60 DF 23 91 B6 25 B6 0D CD A7 07
F9 3461 DA 2417BD 3EF864 761916 F2F8 AD
6C 85 6F OF 6E 62 AE A1 D2 6A 30 1C 05 OE 6E DA
B0 457841 B3 B5FD 2F 08 19 D2 B6 D2 C7 39 B1
2C CC 272D 9F 305D 63 A6 24 3D 71 A9 40 84 9D
29 18 OA FD 57 92 1E DO DO 48 EF 88 CE 6F B3 7E
E5 FB 32 5A 4F 34 54 25 CA 35 9A 0C 15 AE 5B AF
69 D5 4C E4 1D 63 00 44 05 1C 8A 05 6C BD CA FC
97 90 BF 7D 67 C4 69 85 OE 5D C0O DD 3E 54 5D 3C
1356 A7 EC AC 92 24 CE D8 05 A0 OF 1A 6B BE D9
60 B8 EF 14 57 3F DA A6 78 E8 DD 9C 12 F3 47 9F
6E AA 7B C6 8B 6D B9 CE

After Permutation

CDF15289B54F 62 12 B4 BC 27 05 28 B4 95 26
00 6D D9 B5 4E 2B 6A DD 1E F6 90 0D DA 39 63 BB
33 A7 24 91 F2 36 96 9C A8 AF AE A2 9C 68 2D 47
A3 93 C065B38E29 FAE651 A2091C 833110
8E 23 BD 76 5E D3 26 15 3C AE EF B2 20 9E AC D8
01 7A 2F CD AC 27 65 7E BB 39 E8 68 E4 25 8B 7F
BO A2 CF20 A2 76 8D 17 66 53 F6 D6 B6 8F 7E 1D
58 88 D4 D2 A5 3F 9B 64 4B 7D Al 38 42 67 9F 4D
20 B3 52 4E 64 A0 A8 80 DC OF 06 7F DB 9B D1 D1
CEADDE 2C 31 1F B3 17 06 4F E5 BD 0B 50 B5 E5
38 5F DA 60 61 4E 95 D7 95 BE 7B 3C FE 90 5D 27
42 CF5A 87 DC F7 CC 8B 2F 09 OB 9F 68 28 CF 16



24 D2 CC38E3313AEO

Outval is
CDF15289B54F 62 12 B4 BC 27 05 28 B4 95 26
00 6D D9 B5 4E 2B 6A DD 1E F6 90 OD DA 39 63 BB
33 A7 24 91 F2 36 96 9C A8 AF AE A2 9C 68 2D 47
A3 93 C065B38E 29 FAE651 A2091C 833110

ParallelHash:
Sample #3

Security Strength: 256-bits

Length of data is 576-bits

Data is
000102030405060708090A0B 10111213
141516 17 18 19 1A 1B 20 21 22 23 24 25 26 27
28 29 2A 2B 30 31 32 33 34 35 36 37 38 39 3A 3B
4041 4243 44 45 46 47 48 49 4A 4B 50 51 52 53
54 55 56 57 58 59 5A 5B

Block size (B) is 12
Requested output length is 512-bits

S (as a character string) is
"Parallel Data"

Encoded B
01o0C
about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
00 01 02 03 04 05 06 07 08 09 OA OB 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

00 01 02 03 04 05 06 07 08 09 OA OB 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
B3 3073 7B 7F 0088 7F FE 79 12 4D 61 77 38 2B
92 FF DC 26 40 39 OF BB F3 85 26 8C 28 8A 9C 9A
D9 56 91 00 1C 6B FO 65 DF 3A 72 BD 5E 58 DC 35
B8 D9 04 5E EC 7B 39 E9 90 BE 97 90 C7 0D B7 A2
234461 61 A0 4F 93 F5 67 6F D3 DD 6D 39 C8 C6
6D 07 CE CB 16 OE F8 E3 03 76 8C 7A 54 36 E5 E5
76 F5 1308 F1 63 4A 98 75 AD DE B6 9D B7 1C A6
1A 45 D5 CE 91 89 93 AF C9 62 CF AC 2F 0C 62 F8
21 A0784892B0OF58C7CC5316113D2FA 1B
2D AB 48 63 05 98 9D A6 67 DE 3B FC B5 OE 6A 06
D3 7C 69 CB FD 79 40 67 7D 6F EB 4F 37 CO 7E 4E
8E 8C 56 E5 5B EC DO 7E D1 F3 BE 16 E8 20 5C 04
25 77 B8 8F 4B 55 80 82

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
1011121314151617 1819 1A 1B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

1011121314151617 1819 1A 1B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
035D FB 3C6039BC 8D E8 D2 F7 C3 C6 9353 05
32 F2 06 EC DB 5B 87 27 D1 4E D3 21 55 86 1C 94
7TE CO7C 79 OF 2D 20 80 CC A1 43 3C 07 13 CC 87
F9 5C AB OE 58 E1 F2 64 D2 D6 14 36 22 B1 66 26
D0 83 40 E6 EA CF 28 26 DE 9D 74 3B 22 C573 2C
F7 39 B6 C6 E5 3A EE 01 F4 A9 B7 0D 30 85 FF AE
63 29 A8 94 AF BA C1 96 A0 4B 2D 64 54 4D C4 E6
E1 A7 A8 CE 55 B2 80 3F 75 E5 9E 3B D3 FE 8D 07
5C 90 54 8F BC C3 FF 08 5F 1E 56 E3 33 48 D6 10
69 AC 4E 9D D7 0B 70 OE C9 B4 9C 1D D4 40 11 DB
CA FF 1A 1A 2457 D1 C0O 54 7E 86 44 CF 62 CF EB
08 40 FE 6A 4F DF AE 87 22 8593 B7 BB 87 97 53
DO A0 24 72 B9 F6 95 EB

about to call last of the absorb phase




About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
2021 22 23 24 25 26 27 28 29 2A 2B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
2021222324 252627 2829 2A 2B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00O OO0 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
9E 6C B2 AA D4 75B359 72 A7 D7 ES8 B3 D2 8E 47
A9 4953 F2 6021 38 D6 18 D6 D6 DC 4F 85 7D E3
E4 36 FC DD 96 77 37 CC 11 0D A9 77 F8 28 CD CF
F4 24 CA F8 AD B7 F3 80 5D 9A 2D 2F EE 46 4C 9A
BE 19 82 02 D9 A4 DF FF 49 3A 2A 1D BF C5 8E AE
7390 BF F2 21 2D 49 8B 61 30 ED E4 92 B7 27 67



A1 8E 71 15 DA C6 98 D3 E2 68 A6 A7 51 41 74 AA
7D 3E A8 OF AA 75 C7 29 A8 51 B5 31 F9 OF 39 37
E6 39 07 24 A3 E6 F33A 8B E4 1B 7F EB 10 1C 87
32 3D DF Al EE 8A 3F 2A 94 2F 2E E8 D5 34 BA A4
0B 233864 87 7TA 79 AE 71 9D FF F6 FA 34 97 4D
E7 1C 4323 6D F3 CF A0 758254 E4 A3 04 A5 B1
F3 80 D3 86 61 20 24 6F
about to call last of the absorb phase
About to Absorb data
State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
3031 323334353637 38393A 3B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00O 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)
3031 323334 3536373839 3A 3B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00

After Permutation
F6 32 65 84 56 94 31 55 01 6E BE A7 B4 5D 7D 48
9B 82DA 73 A917F5DA81CADDC538F0C8F8
7F 44 9F 61 C1 F1 5E C2 67 7A 09 60 22 99 4E F7
5A 36 28 83 F9 D7 2E DA 6C EF E8 24 50 F5 CD 63
85 EF 29 88 02 86 23 DB 1F 02 OB BF 77 44 07 97
5108 2D A7 5B 66 F7 76 DF 37 23 A5 5A D2 0B 5B
3261 7F 65 E5 94 59 0D 4E 0B C4 68 55 86 A8 20
2EC782CD D364 85C6 70 D4 1E 77 54 36 9B E7
7C B9 FA C3 5B 31 E6 65 66 37 29 55 5A 94 B7 1E
AB 1D A8 58 FE 01 BE 09 90 09 85 EA 67 C4 2E E7
84 6E D6 DC 77 3A D9 FC CD 89 DO A7 AC 14 DF E3
4E D1 63 BF 93 34 EC 55 54 10 5C BB E4 43 09 6B
F4 16 68 67 AD D9 EF DC

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
DC 24 D6 0D 29 65 BB 07 62 E3 98 D8 76 2D 84 70
54 DC 02 DB 89 A0 47 91 5B B6 BB 1B 13 E1 86 BD
E8 15 E8 2C 00 DE CD 7A 89 36 D2 5C D5 29 75 AF
752577 D4 4B 24 C540 64 13 CB A0 C7 E2 BF 62
87B657E19B A0OB202 175511 2587 2B D2 FF
E8 6B 04 FA EF 2D 5F 44 DD 9F 67 9F 0C 6B BC 10
2F5C 04 053D CC 76 3302 CC 87 50 BO FD FF 59
6D 59 FO 9D EAS5E 70 B3 B6 EE B1 08 7B A4 C5 8E
3E 7969 2D A7 7A 74 4E OC F8 23 51 C2 95 F8 70
11 CF 16 A0 8F 3C 78 26 CO F5 81 43 9F E4 81 96
E9 1D 3A 2B 53 AC 19 75 08 E5 14 65 D8 34 2A 3F
1D F7 65 3C D8 AAF5D9 1C 81 C8 BC DD DF 85 6B
5B BE C2 7E 01 D6 05 6A

about to call last of the absorb phase

About to Absorb data

State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Data to be absorbed
50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
AB 62 AA AD 9B 66 43 3E D1 9C 73 D3 2C 45 D9 9B
ACF9 DA 67 C1EE07 7B 7A 0B F5 26 C8 89 3B EA
D3 4C D4 90 DD 6E 22 48 1D 7A 28 85 B4 D3 86 8D
9C D2 B350 E29266 D0 71 B5 3E FE E4 7C 08 EC
26 1A B384 59 81 00 A4 48 4B 14 CF D1 E4 OF FF
4B 34 E1 90 05 26 5A D5 39 9E A5 OF D1 70 9C 2D
2D A5 7B 4B CA AC CF 23 9A 15 63 61 08 F3 58 9A
11 A1 E9 07 1F 2C 51 94 EB 06 85 59 A5 CD 55 33
47 B3 EO AC 28 A6 62 93 9E 4B 8D 48 3F A3 2C F8
49 D3 1D FO 3A AE A2 87 82 23 DE AC 09 B1 B4 02
A2 82 3EF10C 7516 EF 6E 0993 D7 1A C6 7F 39
8A D239 CB 2C 2009 18 93 89 49 0B F1 30 9A 24
4D B112B505 2508 EO

Encoded n
06 01

Encoded L
02 00 02

Length of newX is <3128>

newX is
010CB330737B7F0088 7F FE 7912 4D 61 77
38 2B 92 FF DC 26 40 39 OF BB F3 85 26 8C 28 8A
9C 9A D956 91 00 1C 6B FO 65 DF 3A 72 BD 5E 58
DC 35 B8 D9 04 5E EC 7B 39 E9 90 BE 97 90 C7 0D
B7 A2 035D FB 3C 6039 BC 8D E8 D2 F7 C3 C6 93
530532 F2 06 EC DB 5B 87 27 D1 4E D3 21 55 86
1C 94 7TE CO 7C 79 OF 2D 20 80 CC A1 43 3C 07 13
CC87F95C ABOES8E1F264D2D6 14 3622B1
66 26 9E 6C B2 AA D4 75B359 72 A7 D7 E8 B3 D2
8E 47 A9 49 53 F2 60 21 38 D6 18 D6 D6 DC 4F 85
7TDE3E436 FCDD96 77 37 CC 110D A9 77 F8 28



CD CFF4 24 CAF8 AD B7 F3 80 5D 9A 2D 2F EE 46
4C 9A F6 32 65 84 56 94 31 55 01 6E BE A7 B4 5D
7D 48 9B 82 DA 73 A9 17 F5 DA 81 CA DD C5 38 FO
C8F8 7TF449F 61 C1 F1 5E C2 67 7A 09 60 22 99
AE F7 5A 36 28 83 F9 D7 2E DA 6C EF E8 24 50 F5
CD 63 DC 24 D6 0D 29 65 BB 07 62 E3 98 D8 76 2D
847054 DC02DB 89 A047915B B6BB 1B 13 E1
86 BD E8 15 E8 2C 00 DE CD 7A 89 36 D2 5C D5 29
75 AF 752577 D4 4B 24 C54064 13CB A0OC7 E2
BF 62 AB 62 AA AD 9B 66 43 3E D1 9C 73 D3 2C 45
D9 9B 4C F9 DA 67 C1 EE 07 7B 7A OB F5 26 C8 89
3B EA D34C D4 90 DD 6E 22 48 1D 7A 28 85 B4 D3
86 8D 9C D2 B3 50E292 66 DO 71 B53EFE E4 7C
08 EC 06 01 02 00 02
Encoded N
01 605061 72 61 6C 6C 65 6C 48 61 73 68
Encoded S
01 685061 7261 6C 6C 65 6C 2044 61 74 61
bytepad data
018801605061 7261 6C 6C 656C 48 61 73 68
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
About to Absorb data
State (in bytes)
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Data to be absorbed
018801605061 7261 6C 6C 656C 48 61 73 68
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00



00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00
Xor'd state (in bytes)

018801605061 72616C 6C656C 48617368
01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

After Permutation
01 33 43 40 OA OF 02 59 DF AD 3D D3 6B 30 8E C2
0C B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C
18 E8 58 FE 2B OE 9B 73 CB 74 D1 A9 C7 F2 7C F8
5A 91 6C DO OA E6 DE 28 92 0B B1 DA 4B 54 B5 1E
DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95
B2 F4 4A FD DO 85 1D 43 85 DD 6E 57 59 1E CB 90
E6 64 FE 27 CE 63 6A 18 35 70 C9 A5 D3 70 59 B7
88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92
99 58 C9 E8 FF 56 88 AF 51 3C 82 FC 18 8B 89 E3
8E 82 C536 E7 3A 2E 70 FO 9A 64 6B 08 4C F4 7C
B8 CO E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88
5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C
3029 9A DE DO OB 10 BO

About to Absorb data

State (in bytes)
01 33 43 40 OA OF 02 59 DF AD 3D D3 6B 30 8E C2
0C B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C
18 ES 58 FE2B OE9B 73 CB 74 D1 A9 C7 F2 7C F8
5A 91 6C DO OA E6 DE 28 92 0B B1 DA 4B 54 B5 1E
DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95
B2 F4 4A FD DO 85 1D 43 85 DD 6E 57 59 1E CB 90
E6 64 FE 27 CE 63 6A 18 3570 C9 A5 D3 70 59 B7
88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92
99 58 C9 E8 FF 56 88 AF 51 3C 82 FC 18 8B 89 E3
8E 82 C5 36 E7 3A 2E 70 FO 9A 64 6B 08 4C F4 7C
B8 CO E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88
5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C



30 29 9A DE DO 0B 10 BO

Data to be absorbed
010CB330737B7F00887FFE79124D 6177
38 2B 92 FF DC 26 40 39 OF BB F3 85 26 8C 28 8A
9C 9A D956 91 00 1C 6B FO 65 DF 3A 72 BD 5E 58
DC 35 B8 D9 04 5E EC 7B 39 E9 90 BE 97 90 C7 0D
B7 A2 035D FB 3C 6039 BC 8D E8 D2 F7 C3 C6 93
530532 F2 06 EC DB 5B 87 27 D1 4E D3 21 55 86
1C 94 7E CO7C 79 OF 2D 20 80 CC A1433C 07 13
CC87F95C ASBOE58ELF264D2D6 14 36 22 B1
66 26 9E 6C B2 AA D4 75 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
O03FFO07079747D5957D2C3AAT79 7D EF B5
3493 7B 24 A2B3186C 41 CF 18 A827 497016
84 7281 A8 BA OE 87 18 3B 11 OE 93 B5 4F 22 AO
86 A4 D409 OEB8 3253 ABE22164DCC47213
6D D2 BB 94 BF 16 0D 60 81 27 40 09 8A 7E 28 06
E1 F1 78 OF D6 69 C6 18 02 FA BF 19 8A 3F 9E 16
FA FO 80 E7 B2 1A 65 35 15 FO 05 04 90 4C 5E A4
44 24 7B 6F 36 60 3F 4F 27 AC 86 8F 01 2F 7D 23
FF 7E 57 84 4D FC 5C DA 51 3C 82 FC 18 8B 89 E3
8E 82 C536 E7 3A 2E 70 FO 9A 64 6B 08 4C F4 7C
B8 COE5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88
5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C
3029 9A DE DO OB 10 BO

After Permutation
C269C64782737EACE7C11980F9 726166
5F 83 2A 11 46 0259 8B F2 84 E4 F9 AD 06 D8 B5
4B 56 32 16 0C A2 FOBE 059A 9C 04 1F 1F C7 83
96 91 BF 6B C5 6C EF C5 45 6A 38 77 A0 69 3D E6
7087 48 DO 9B 1D F7 24 12 7E 84 22 94 03 92 45
11 C235788C 44490056 07 5C 3C EO ED A3 87
FF 6E 65 8F 4C CF FB 03 03 45 79 88 7C EO D2 60
46 81 38 B6 25 A2 2C DA 04 4A AF FO 7B 74 4D 8F
20 7TE3E 96 1B E0 10 2D 29 E4 86 7A 7A A7 2B E7
92 98 A8 A7 20 CD 22 66 B4 D6 52 88 33 87 65 AE
EF 55 AC A5 E5 55 0C 33 00 98 DA D5 5A 06 C6 B2
C521 7D 8A 83 DA A0 B4 F2 82 3F DD 2D 8F A5 F2
AC A6 8E 74 9D 84 60 CC

About to Absorb data

State (in bytes)
C269C64782737EACE7C11980F9 726166
5F 83 2A 11 46 02 59 8B F2 84 E4 F9 AD 06 D8 B5
4B 56 32 16 0C A2 FOBE 05 9A 9C 04 1F 1F C7 83
96 91 BF 6B C5 6C EF C5 45 6A 38 77 A0 69 3D E6



7087 48 DO 9B 1D F7 24 12 7E 84 22 94 03 92 45
11 C2 3578 8C 44 49 00 56 07 5C 3C EO ED A3 87
FF 6E 65 8F 4C CF FB 03 03 45 7988 7C E0 D2 60
46 81 38 B6 25 A2 2C DA 04 4A AF FO 7B 74 4D 8F
207E3E 96 1B E0O 102D 29 E4 86 7TA 7A A7 2B E7
92 98 AB A7 20 CD 22 66 B4 D6 52 88 33 87 65 AE
EF 55 AC A5 E5 55 0C 33 00 98 DA D5 5A 06 C6 B2
C521 7D 8A 83 DA A0B4F2823FDD 2D 8FA5F2
4C A6 8E 74 9D 84 60 CC

Data to be absorbed
B359 72 A7 D7 E8 B3 D2 8E 47 A9 49 53 F2 60 21
38 D6 18 D6 D6 DC 4F 85 7D E3 E4 36 FC DD 96 77
37CC110DA9 77 F828CD CFF4 24 CAF8 AD B7
F3 80 5D 9A 2D 2F EE 46 4C 9A F6 32 65 84 56 94
315501 6E BE A7 B4 5D 7D 48 9B 82 DA 73 A9 17
F5DA81CADDC538F0C8F87F449F 61 C1F1
5E C2 67 7A 09 60 22 99 4E F7 5A 36 28 83 F9 D7
2E DA 6C EF E8 24 50 F5 CD 63 DC 24 D6 0D 29 65
BB 07 62 E3 98 D8 76 2D 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 0000
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
7130 B4 E0559B CD 7E 69 86 BO C9 AA 80 01 47
67 55 32 C7 90 DE 16 OE 8F 67 00 CF 51 DB 4E C2
7C 9A 23 1B A5 D508 96 C8 55 68 20 D5 E7 6A 34
6511 E2F1 E843018309 FOCE45C5ED 6B 72
41 D2 49 BE 25 BA 43 79 6F 36 1F A0 4E 70 3B 52
E418B4B2518171F09E FF 2378 7F 8C 62 76
Al AC 02 F5 45 AF D9 9A 4D B2 23 BE 54 63 2B B7
68 5B 54 59 CD 86 7C 2F C9 29 73 D4 AD 79 64 EA
9B 795C 7583 3866 00 29 E4 86 7TA 7A A7 2B E7
92 98 A8 A7 20 CD 22 66 B4 D6 52 88 33 87 65 AE
EF 55 AC A5 E5 55 0C 33 00 98 DA D5 5A 06 C6 B2
C5 21 7D 8A 83 DA A0 B4 F2 82 3F DD 2D 8F A5 F2
4C A6 8E 74 9D 84 60 CC

After Permutation

3717 76 AE 7C 5F 31 3B 93 2A 78 6A 7D 01 DB AE
86 EC D2 57 63 EE 15 E3 56 D6 65 9D C4 08 E4 F6
70 3B 41 73 05 3B 56 84 A2 8D 22 18 2A FF D8 41
45 C2 23 CF3989C6002595EE 152B E1 1B 47
AOQ F6 74 32 89 6C 4E F2 B6 A5 4B 78 B5 C2 00 E4
D7 123907 E7 EO FD 23 5F CD 7D 5F 7F 38 43 5B
02348299 CC DB 71604C 7D 44 0D E5 26 DB ED
2007 C3951207 24 DD 5B 22 33 C8 2D BD 7C FO
1A BE 11 C4 59 BB 6F EF 68 A9 A6 F8 4E 99 6B B5
B2 DF D8 FO DB 14 24 11 7D BD 41 C6 1C 07 A8 04
FF 87 92 1D B5 BD C2 AE D3 6C D3 0C 53 78 7F F7
54 D8 6F 00 2B EC C4 6F 0D 0D 5A 38 20 9F 46 A6



3B 5B B8 DB CF BB 31 06

about to call last of the absorb phase

About to Absorb data

State (in bytes)
3717 76 AE 7C 5F 31 3B 93 2A 78 6A 7D 01 DB AE
86 EC D2 57 63 EE 15 E3 56 D6 65 9D C4 08 E4 F6
70 3B 41 73 05 3B 56 84 A2 8D 22 18 2A FF D8 41
45 C2 23 CF 3989 C6 00 2595 EE 15 2B E1 1B 47
A0 F6 743289 6C 4E F2B6 A54B 78 B5 C2 00 E4
D7 12 39 07 E7 EO FD 23 5F CD 7D 5F 7F 38 43 5B
02348299 CCDB 71604C 7D 44 0D E5 26 DB ED
2007 C3951207 24 DD 5B 2233 C82D BD 7C FO
1A BE 11 C4 59 BB 6F EF 68 A9 A6 F8 4E 99 6B B5
B2 DF D8 FO DB 14 24 11 7D BD 41 C6 1C 07 A8 04
FF 87 92 1D B5 BD C2 AE D3 6C D3 0C 53 78 7F F7
54 D8 6F 00 2B EC C4 6F 0D 0D 5A 38 20 9F 46 A6
3B 5B B8 DB CF BB 31 06

Data to be absorbed
847054 DC02DB 8 A047915B B6BB 1B 13 E1
86 BD E8 15 E8 2C 00 DE CD 7A 89 36 D2 5C D5 29
75 AF 752577 D4 4B 24 C5 40 64 13 CB A0 C7 E2
BF 62 AB 62 AA AD 9B 66 43 3E D1 9C 73 D3 2C 45
D99B 4C FO DA 67 CLEE 07 7B 7A OB F5 26 C8 89
3B EA D3 4C D4 90 DD 6E 22 48 1D 7A 28 85 B4 D3
86 8D 9C D2B350E29266 DO 71 B5 3EFE E4 7C
08 EC 06 01 02 00 02 04 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
00 00 00 00 00 00 00 00

Xor'd state (in bytes)
B3 67 2272 7E 84 B8 9B D4 BB 23 DC C6 1A C8 4F
0051 3A 42 8B C2 153D 9B AC EC AB 16 54 31 DF
0594 3456 72 EF 1D A0 67 CD 46 0B E1 5F 1F A3
FA A0 88 AD 93 24 5D 66 66 AB 3F 89 58 32 37 02
79 6D 38 CB 53 0B 8F 1C B1 DE 31 7340 E4 C8 6D
EC F8 EA 4B 33 70 20 4D 7D 85 60 25 57 BD F7 88
84 B9 1E 4B 7F 8B 93 F2 2A AD 35 B8 DB D8 3F 91
28 EB C594 10 07 26 D9 5B 22 33 C8 2D BD 7C FO
1A BE 11 C4 59 BB 6F 6F 68 A9 A6 F8 4E 99 6B B5
B2 DF D8 FO DB 14 2411 7D BD 41 C6 1C 07 A8 04
FF 87 92 1D B5 BD C2 AE D3 6C D3 0C 53 78 7F F7
54 D8 6F 00 2B EC C4 6F 0D 0D 5A 38 20 9F 46 A6
3B 5B B8 DB CF BB 31 06

After Permutation
69 DO FCB764 EA055D D093 34BC6021CB7E
4B 61 34 8D FF 37 5D A2 62 67 1C DE C3 EF FA 8D
1B 4568 A6 CC E1 6B 1C AD 94 6D DD E2 7F 6C E2



B8 DE E4 CD 1B 24 85 1E BF 00 EB 90 D4 38 13 E9
FE 1E AB 62 48 FB 34 EC 1A 1B F4 54 D7 D4 7E 8E
3EF1B3118705F7CB EAEF05C5935C EF 7A
69 C2B7 080622 1F 0B 96 E7 02 70 FF F4 B9 1D
190C F1493A 9B 0B D4 CF 90 70 60 79 49 4F 21
DD 16 FB OE 1B CF FF 21 47 60 1D 28 84 E9 18 B4
C2CFB432D35025E484 EAE4636435A277
BF 31 AA 84 5B 35 B9 E8 9C 31 2F 82 19 49 15 07
AF AF 5A 93 41 9E 0D 02 C3 51 2C 21 9C 73 DF 30
7705 7A 28 B2 9B 34 9F

Outval is

69 DO FC B7 64 EA 055D D0 93 34 BC 60 21 CB 7E
4B 61 34 8D FF 37 5D A2 62 67 1C DE C3 EF FA 8D
1B 4568 A6 CCE16B 1C AD 94 6D DD E2 7F 6C E2
B8 DE E4 CD 1B 24 85 1E BF 00 EB 90 D4 38 13 E9




	Structure Bookmarks
	############################################################## 
	  SHA-3 Derived Functions 
	     cSHAKE 
	     KMAC 
	     TupleHash 
	     ParallelHash 
	############################################################## 
	 
	ParallelHash: 
	 Sample #1 
	 
	Security Strength: 128-bits 
	 
	Length of data is 192-bits 
	Data is 
	 00 01 02 03 04 05 06 07 10 11 12 13 14 15 16 17  
	 20 21 22 23 24 25 26 27  
	 
	Block size (B) is 8 
	 
	Requested output length is 256-bits 
	 
	S (as a character string) is 
	 "(null)" 
	------------------------------------------------------------ 
	Encoded B 
	 01 08  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77 C1 E3  
	 3A AC 94 D3 9C E4 61 63 42 9A BC AC FA 99 2B BC  
	 42 4A B6 89 BB 01 23 E0 DC 3E 0D 84 37 6A 56 61  
	 6C A0 D2 F7 83 2F 6A 7F AC DD FB C0 D9 D6 17 5A  
	 E7 AC 86 17 2D 43 F5 76 E6 AF 5B AA 80 DB 29 FC  
	 07 9C B7 37 AA E6 CF 82 EA 69 AC 6D 00 5E 07 2D  
	 41 FF 84 CA 47 77 2D FF 4A 08 C2 E2 9A 5D 69 A5  
	 64 72 8B F5 66 9E D8 14 6A 9F DC 4E DB 5E 58 C9  
	 62 14 0D 59 1F A6 BF 52 0B F0 88 92 6B 91 9F 79  
	 71 61 6F C4 AA 4B 74 65 21 AC CE C8 E0 7B 9A 36  
	 BA 71 81 76 18 A6 8C E1 23 17 CE ED 27 A2 7D 9C  
	 ED 1F B9 FB A5 77 03 F7 D8 EE 18 DF 6B 3E 7A 5E  
	 4A DD 80 27 02 65 00 13  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E 84 21  
	 67 9D ED 28 2A 0E 50 CE E8 F1 18 36 1C 08 75 95  
	 A6 AF 48 A1 8A 74 56 4E 5B 76 26 E6 92 C5 5A A3  
	 D6 F3 FB F0 30 6B 7E F0 D5 40 28 F7 AC F3 1F D1  
	 0C F5 65 49 99 F6 06 65 37 67 53 91 28 41 71 90  
	 76 AE 49 5C B0 77 E2 C6 0E C0 E1 37 4D B5 34 60  
	 7F A4 2E 6A 94 30 F2 A5 D8 C7 1E 07 18 7B 61 2B  
	 A0 3E 20 60 17 3C A8 32 FC 86 D4 7A 6D A7 58 07  
	 4C E7 C6 07 B3 04 C0 79 E5 7F 93 EC B1 D4 C5 46  
	 DA CD 8A CB F9 7D D2 A7 AE 18 2F 14 0F E9 8F 62  
	 67 91 26 F7 34 9E 21 EB 4D DA 29 2D 7C 7A CE BD  
	 1E EA E5 CC F7 63 28 42 ED F7 90 CC C5 06 B1 D1  
	 0D 4E 82 71 D6 95 1F 7A  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D A0 CD  
	 E3 EE 6B 06 BF 30 F0 F6 3D FF 39 15 A5 51 8F C8  
	 CC 5A E2 EB 09 BF BA 5E 88 31 00 E2 85 5A F8 E1  
	 EF C5 60 86 33 1F 5F 5D 57 BF 55 D9 EF 05 E0 C9  
	 84 36 57 9E AB FD 9B 77 60 57 CB 1E 58 C2 F5 8E  
	 52 F8 A4 11 24 23 D3 6D C1 6F 75 BF 8E DD 2B 3F  
	 2D 34 95 9F E4 D3 5D 65 85 76 C6 E4 6D 81 64 F7  
	 CA 66 52 91 96 6F 76 A0 B3 E6 AA A7 E0 43 54 4A  
	 40 C0 4B 36 A8 01 13 5D 2D EA C3 D5 F6 91 89 F7  
	 79 C8 27 45 6B C0 28 34 C3 C3 57 C7 08 3E 52 23  
	 74 38 84 DE E1 F1 99 3C 0A 51 E6 8C A1 69 8E 9B  
	 9D 11 F7 CF AE 94 C5 DB C9 CD CC 5A AE B7 55 51  
	 96 A5 93 9E 1D D0 06 51  
	Encoded n 
	 03 01  
	Encoded L 
	 01 00 02  
	Length of newX is <824> 
	newX is  
	 01 08 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77  
	 C1 E3 3A AC 94 D3 9C E4 61 63 42 9A BC AC FA 99  
	 2B BC 49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E  
	 84 21 67 9D ED 28 2A 0E 50 CE E8 F1 18 36 1C 08  
	 75 95 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D  
	 A0 CD E3 EE 6B 06 BF 30 F0 F6 3D FF 39 15 A5 51  
	 8F C8 03 01 01 00 02  
	Encoded N 
	 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	Encoded S 
	 01 00  
	bytepad data 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 23 85 01 4D D6 CF E5 32 F4 A5 71 C7 26 BD 4F B4  
	 D7 DB 5A F7 3A D6 F1 2A DF 4C 4E D7 EF FE A9 85  
	 41 B2 2C C9 BE 91 98 C5 8C 7D 48 35 80 0C 3B 3A  
	 6E 58 CE DF 4A 20 B1 69 65 3E DB 68 F6 C3 AC E5  
	 B8 95 04 71 3A B1 CF 78 5A 0C 88 7C 07 A8 C6 95  
	 ED D1 EC 8C BF 43 47 F4 D0 AC 84 5C BC 32 6E 52  
	 D6 7A E1 D6 BC F1 68 D1 19 FA 4C 8B 5B 43 16 1D  
	 E8 50 40 5C B7 35 6C B9 F8 F3 D2 12 C8 FB C2 C9  
	 F9 2D 0C 32 7C F3 F3 8E B6 C8 3B 3B 51 90 3E 29  
	 26 44 75 23 EA 46 F3 F2 A3 58 59 2F EB 84 F6 E9  
	 09 38 FA AD E3 23 09 D9 CD 8C 36 01 17 46 37 1D  
	 D7 2D 6E E3 C2 C7 64 D4 48 E7 99 06 BD 43 EB D4  
	 82 0E 51 34 4E 3C 1F E2  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 23 85 01 4D D6 CF E5 32 F4 A5 71 C7 26 BD 4F B4  
	 D7 DB 5A F7 3A D6 F1 2A DF 4C 4E D7 EF FE A9 85  
	 41 B2 2C C9 BE 91 98 C5 8C 7D 48 35 80 0C 3B 3A  
	 6E 58 CE DF 4A 20 B1 69 65 3E DB 68 F6 C3 AC E5  
	 B8 95 04 71 3A B1 CF 78 5A 0C 88 7C 07 A8 C6 95  
	 ED D1 EC 8C BF 43 47 F4 D0 AC 84 5C BC 32 6E 52  
	 D6 7A E1 D6 BC F1 68 D1 19 FA 4C 8B 5B 43 16 1D  
	 E8 50 40 5C B7 35 6C B9 F8 F3 D2 12 C8 FB C2 C9  
	 F9 2D 0C 32 7C F3 F3 8E B6 C8 3B 3B 51 90 3E 29  
	 26 44 75 23 EA 46 F3 F2 A3 58 59 2F EB 84 F6 E9  
	 09 38 FA AD E3 23 09 D9 CD 8C 36 01 17 46 37 1D  
	 D7 2D 6E E3 C2 C7 64 D4 48 E7 99 06 BD 43 EB D4  
	 82 0E 51 34 4E 3C 1F E2  
	Data to be absorbed 
	 01 08 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77  
	 C1 E3 3A AC 94 D3 9C E4 61 63 42 9A BC AC FA 99  
	 2B BC 49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E  
	 84 21 67 9D ED 28 2A 0E 50 CE E8 F1 18 36 1C 08  
	 75 95 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D  
	 A0 CD E3 EE 6B 06 BF 30 F0 F6 3D FF 39 15 A5 51  
	 8F C8 03 01 01 00 02 04 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 22 8D 2F EA 76 AF FE AE A8 11 6F 81 B9 38 0F C3  
	 16 38 60 5B AE 05 6D CE BE 2F 0C 4D 53 52 53 1C  
	 6A 0E 65 4F C5 DF 95 BE 2F 39 4F BB 6D E5 86 44  
	 EA 79 A9 42 A7 08 9B 67 35 F0 33 99 EE F5 B0 ED  
	 CD 00 E2 F8 BE C4 41 90 64 47 B7 3F 7B F0 A4 C8  
	 4D 1C 0F 62 D4 45 F8 C4 20 5A B9 A3 85 27 CB 03  
	 59 B2 E2 D7 BD F1 6A D5 19 FA 4C 8B 5B 43 16 1D  
	 E8 50 40 5C B7 35 6C B9 F8 F3 D2 12 C8 FB C2 C9  
	 F9 2D 0C 32 7C F3 F3 8E B6 C8 3B 3B 51 90 3E 29  
	 26 44 75 23 EA 46 F3 F2 A3 58 59 2F EB 84 F6 E9  
	 09 38 FA AD E3 23 09 59 CD 8C 36 01 17 46 37 1D  
	 D7 2D 6E E3 C2 C7 64 D4 48 E7 99 06 BD 43 EB D4  
	 82 0E 51 34 4E 3C 1F E2  
	 
	After Permutation 
	 BA 8D C1 D1 D9 79 33 1D 3F 81 36 03 C6 7F 72 60  
	 9A B5 E4 4B 94 A0 B8 F9 AF 46 51 44 54 A2 B4 F5  
	 CA CF FF E8 3C 15 57 B7 84 2D 64 05 57 E0 59 BC  
	 C4 C9 5B 1D 07 DC FD C4 3A 8E 04 0F C0 65 76 4E  
	 25 DF 4A 27 4E D4 A1 E3 53 D8 F5 A9 25 B5 82 FB  
	 27 A1 2B 81 8F EA C9 88 09 6B D7 62 4E 27 1E 9C  
	 D6 D0 6F 96 E7 96 D9 C2 F0 75 97 AA 85 16 97 1B  
	 13 D3 09 68 DC AA 93 EC 78 9D 5F 4E B3 7E DD 65  
	 D0 BE 0C 17 D5 1C D1 95 6C 37 CC B4 9C C5 1F 0F  
	 2E 07 C4 62 0A 96 F3 58 1F 2A 30 96 AB 43 9B 0F  
	 BB E3 53 09 B4 0E 08 97 5F B9 2D 04 E7 A4 8C BB  
	 57 7C 01 71 39 76 0D 7B 06 C6 44 B8 AA 4D CC 2C  
	 9B CA 1E 82 6C 3B 66 35  
	Outval is 
	 BA 8D C1 D1 D9 79 33 1D 3F 81 36 03 C6 7F 72 60  
	 9A B5 E4 4B 94 A0 B8 F9 AF 46 51 44 54 A2 B4 F5  
	 
	============================================================== 
	 
	ParallelHash: 
	 Sample #2 
	 
	Security Strength: 128-bits 
	 
	Length of data is 192-bits 
	Data is 
	 00 01 02 03 04 05 06 07 10 11 12 13 14 15 16 17  
	 20 21 22 23 24 25 26 27  
	 
	Block size (B) is 8 
	 
	Requested output length is 256-bits 
	 
	S (as a character string) is 
	 "Parallel Data" 
	------------------------------------------------------------ 
	Encoded B 
	 01 08  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77 C1 E3  
	 3A AC 94 D3 9C E4 61 63 42 9A BC AC FA 99 2B BC  
	 42 4A B6 89 BB 01 23 E0 DC 3E 0D 84 37 6A 56 61  
	 6C A0 D2 F7 83 2F 6A 7F AC DD FB C0 D9 D6 17 5A  
	 E7 AC 86 17 2D 43 F5 76 E6 AF 5B AA 80 DB 29 FC  
	 07 9C B7 37 AA E6 CF 82 EA 69 AC 6D 00 5E 07 2D  
	 41 FF 84 CA 47 77 2D FF 4A 08 C2 E2 9A 5D 69 A5  
	 64 72 8B F5 66 9E D8 14 6A 9F DC 4E DB 5E 58 C9  
	 62 14 0D 59 1F A6 BF 52 0B F0 88 92 6B 91 9F 79  
	 71 61 6F C4 AA 4B 74 65 21 AC CE C8 E0 7B 9A 36  
	 BA 71 81 76 18 A6 8C E1 23 17 CE ED 27 A2 7D 9C  
	 ED 1F B9 FB A5 77 03 F7 D8 EE 18 DF 6B 3E 7A 5E  
	 4A DD 80 27 02 65 00 13  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E 84 21  
	 67 9D ED 28 2A 0E 50 CE E8 F1 18 36 1C 08 75 95  
	 A6 AF 48 A1 8A 74 56 4E 5B 76 26 E6 92 C5 5A A3  
	 D6 F3 FB F0 30 6B 7E F0 D5 40 28 F7 AC F3 1F D1  
	 0C F5 65 49 99 F6 06 65 37 67 53 91 28 41 71 90  
	 76 AE 49 5C B0 77 E2 C6 0E C0 E1 37 4D B5 34 60  
	 7F A4 2E 6A 94 30 F2 A5 D8 C7 1E 07 18 7B 61 2B  
	 A0 3E 20 60 17 3C A8 32 FC 86 D4 7A 6D A7 58 07  
	 4C E7 C6 07 B3 04 C0 79 E5 7F 93 EC B1 D4 C5 46  
	 DA CD 8A CB F9 7D D2 A7 AE 18 2F 14 0F E9 8F 62  
	 67 91 26 F7 34 9E 21 EB 4D DA 29 2D 7C 7A CE BD  
	 1E EA E5 CC F7 63 28 42 ED F7 90 CC C5 06 B1 D1  
	 0D 4E 82 71 D6 95 1F 7A  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D A0 CD  
	 E3 EE 6B 06 BF 30 F0 F6 3D FF 39 15 A5 51 8F C8  
	 CC 5A E2 EB 09 BF BA 5E 88 31 00 E2 85 5A F8 E1  
	 EF C5 60 86 33 1F 5F 5D 57 BF 55 D9 EF 05 E0 C9  
	 84 36 57 9E AB FD 9B 77 60 57 CB 1E 58 C2 F5 8E  
	 52 F8 A4 11 24 23 D3 6D C1 6F 75 BF 8E DD 2B 3F  
	 2D 34 95 9F E4 D3 5D 65 85 76 C6 E4 6D 81 64 F7  
	 CA 66 52 91 96 6F 76 A0 B3 E6 AA A7 E0 43 54 4A  
	 40 C0 4B 36 A8 01 13 5D 2D EA C3 D5 F6 91 89 F7  
	 79 C8 27 45 6B C0 28 34 C3 C3 57 C7 08 3E 52 23  
	 74 38 84 DE E1 F1 99 3C 0A 51 E6 8C A1 69 8E 9B  
	 9D 11 F7 CF AE 94 C5 DB C9 CD CC 5A AE B7 55 51  
	 96 A5 93 9E 1D D0 06 51  
	Encoded n 
	 03 01  
	Encoded L 
	 01 00 02  
	Length of newX is <824> 
	newX is  
	 01 08 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77  
	 C1 E3 3A AC 94 D3 9C E4 61 63 42 9A BC AC FA 99  
	 2B BC 49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E  
	 84 21 67 9D ED 28 2A 0E 50 CE E8 F1 18 36 1C 08  
	 75 95 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D  
	 A0 CD E3 EE 6B 06 BF 30 F0 F6 3D FF 39 15 A5 51  
	 8F C8 03 01 01 00 02  
	Encoded N 
	 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	Encoded S 
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61  
	bytepad data 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3  
	 26 E0 DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07  
	 7A C2 88 B1 87 EA AF 06 C1 D6 B5 5C D2 8D 7D 80  
	 4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F  
	 0A 7B 05 76 7C 54 B7 B5 01 46 FE D2 37 24 55 2E  
	 CE A3 89 3B 57 B2 20 A8 CD DC 04 9C 68 F9 FE EE  
	 71 87 46 11 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7  
	 43 B5 38 47 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41  
	 72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3  
	 BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38  
	 75 D6 D0 8F 9E A9 A8 CC 72 D7 4D A3 F3 E0 06 05  
	 B8 10 7B 0C F8 D3 75 8C 09 3C 60 57 55 A4 70 F3  
	 43 BD 8F 4A 7C D9 DD 25  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3  
	 26 E0 DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07  
	 7A C2 88 B1 87 EA AF 06 C1 D6 B5 5C D2 8D 7D 80  
	 4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F  
	 0A 7B 05 76 7C 54 B7 B5 01 46 FE D2 37 24 55 2E  
	 CE A3 89 3B 57 B2 20 A8 CD DC 04 9C 68 F9 FE EE  
	 71 87 46 11 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7  
	 43 B5 38 47 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41  
	 72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3  
	 BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38  
	 75 D6 D0 8F 9E A9 A8 CC 72 D7 4D A3 F3 E0 06 05  
	 B8 10 7B 0C F8 D3 75 8C 09 3C 60 57 55 A4 70 F3  
	 43 BD 8F 4A 7C D9 DD 25  
	Data to be absorbed 
	 01 08 2E A7 A0 60 1B 9C 5C B4 1E 46 9F 85 40 77  
	 C1 E3 3A AC 94 D3 9C E4 61 63 42 9A BC AC FA 99  
	 2B BC 49 86 7B 4E 0D 7B A3 44 07 8E ED E9 BD 7E  
	 84 21 67 9D ED 28 2A 0E 50 CE E8 F1 18 36 1C 08  
	 75 95 E6 89 84 75 8E E8 3E 4B 3F 43 7C 58 62 5D  
	 A0 CD E3 EE 6B 06 BF 30 F0 F6 3D FF 39 15 A5 51  
	 8F C8 03 01 01 00 02 04 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 9F 27 27 19 75 7D 6E 3E 6E 66 0A D3 AD CA 20 94  
	 E7 03 E5 02 79 DA 4A 85 CE CB D6 FD 02 1C DE 9E  
	 51 7E C1 37 FC A4 A2 7D 62 92 B2 D2 3F 64 C0 FE  
	 C8 69 FE B5 DD C7 11 F1 C1 46 8E 1A 10 89 F6 67  
	 7F EE E3 FF F8 21 39 5D 3F 0D C1 91 4B 7C 37 73  
	 6E 6E 6A D5 3C B4 9F 98 3D 2A 39 63 51 EC 5B BF  
	 FE 4F 45 10 5C 35 EC D1 E4 72 2C 6C 9F B5 0B F7  
	 43 B5 38 47 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41  
	 72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3  
	 BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38  
	 75 D6 D0 8F 9E A9 A8 4C 72 D7 4D A3 F3 E0 06 05  
	 B8 10 7B 0C F8 D3 75 8C 09 3C 60 57 55 A4 70 F3  
	 43 BD 8F 4A 7C D9 DD 25  
	 
	After Permutation 
	 FC 48 4D CB 3F 84 DC EE DC 35 34 38 15 1B EE 58  
	 15 7D 6E FE D0 44 5A 81 F1 65 E4 95 79 5B 72 06  
	 27 5D 3A AE 1F 40 A3 16 12 CB 0A 32 ED 30 C6 22  
	 0B 66 68 77 87 A1 DB 6A BE 3D 9F 38 92 FB 87 7B  
	 70 4C EA 15 63 F2 9F F3 D2 72 A1 8C 97 D2 0A 9E  
	 DA 46 C4 08 59 87 C8 57 AB 9D 07 E4 63 FD 02 23  
	 5E 5A FC 8F 01 24 61 B0 1E 40 96 4E 96 75 76 B7  
	 A4 4E 00 84 51 6E 9D 79 58 BE 12 A0 57 80 E1 79  
	 06 04 41 B7 6E C6 AF 78 21 F1 9C 82 25 6E E2 E2  
	 2E 70 2E A4 37 89 A8 E8 6B D0 BF 16 16 05 57 F7  
	 13 ED B9 88 8A 24 9E 30 46 1D 9B ED FB B0 71 15  
	 D7 31 58 08 1C 14 5D 40 18 75 11 A8 84 8E 0E E0  
	 7B CD AB 8C B1 B2 3B B1  
	Outval is 
	 FC 48 4D CB 3F 84 DC EE DC 35 34 38 15 1B EE 58  
	 15 7D 6E FE D0 44 5A 81 F1 65 E4 95 79 5B 72 06  
	 
	============================================================== 
	 
	ParallelHash: 
	 Sample #3 
	 
	Security Strength: 128-bits 
	 
	Length of data is 576-bits 
	Data is 
	 00 01 02 03 04 05 06 07 08 09 0A 0B 10 11 12 13  
	 14 15 16 17 18 19 1A 1B 20 21 22 23 24 25 26 27  
	 28 29 2A 2B 30 31 32 33 34 35 36 37 38 39 3A 3B  
	 40 41 42 43 44 45 46 47 48 49 4A 4B 50 51 52 53  
	 54 55 56 57 58 59 5A 5B  
	 
	Block size (B) is 12 
	 
	Requested output length is 256-bits 
	 
	S (as a character string) is 
	 "Parallel Data" 
	------------------------------------------------------------ 
	Encoded B 
	 01 0C  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 00 01 02 03 04 05 06 07 08 09 0A 0B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 01 02 03 04 05 06 07 08 09 0A 0B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 15 BC 36 A4 F1 17 F4 FD AB 53 64 D5 DA 67 8C 2E  
	 35 CE 09 50 A5 7C 1A 23 5E CC 83 0E CE 29 EC EE  
	 44 6D A6 38 8D 23 93 1B 8A 43 4C 67 D1 2C 0A 57  
	 1C 3D 34 0A 65 63 5D A0 B9 2E 95 76 78 D9 FF CA  
	 FE EB 86 54 75 0E 90 0F 81 F8 39 ED A9 5E 50 8D  
	 EC B1 40 05 FA D8 C9 60 CB 45 2D 90 0D 25 62 E0  
	 A1 74 14 F8 A0 8F 78 01 98 E7 23 85 67 FE 60 DF  
	 D6 85 75 DE 62 3D 69 44 E6 37 00 92 C7 76 0A D5  
	 E8 47 D7 98 F4 70 07 7B CE 2D 50 D4 37 67 A9 E9  
	 2D 71 7C 42 D6 79 5D 17 96 45 DF 3E FD D5 30 F6  
	 C9 C9 F8 04 C8 18 7D 71 70 5F 80 D6 8A F4 F7 AB  
	 3D 89 1D 91 59 A4 3B C7 34 C3 94 1A D1 59 D5 4F  
	 98 0E 2C 81 C7 09 F6 66  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 10 11 12 13 14 15 16 17 18 19 1A 1B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 10 11 12 13 14 15 16 17 18 19 1A 1B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 FC 59 81 3E E8 4F 8E B9 B6 D7 4A 4A 2D 05 BB 8D  
	 1E D7 4A 72 D2 81 F9 6A D1 F7 A0 6B FA 71 C2 45  
	 0A 39 39 B5 19 21 A8 9A 1B 39 AD 0B 86 34 3A EF  
	 15 87 46 23 68 22 9C D8 A9 1F 9B 74 9E 44 39 9D  
	 76 C9 B6 B8 7E 13 42 DF 34 5B 3A 67 3B 57 AF 55  
	 7D A3 FF 16 C4 CF 23 DF 39 6E 8E 2D D4 7F 07 79  
	 99 00 E7 90 3A B7 D1 15 19 36 88 D9 F4 A4 C7 2F  
	 C8 42 35 F0 D0 66 64 45 3A 55 EF 54 45 7E A1 4D  
	 CD E4 26 E2 E6 89 A6 43 36 4B 5B 8F 5A B6 C2 91  
	 27 6E E6 D1 13 B0 42 4F 4E FA 8B F0 3D 46 1F 28  
	 0A 88 C6 C2 67 48 04 3D 2A D4 49 61 CB C7 DD 6B  
	 A4 8C A3 B1 01 88 ED 18 F5 11 DF C8 B4 61 18 B3  
	 83 79 FC 0C 99 C4 91 96  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 20 21 22 23 24 25 26 27 28 29 2A 2B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 20 21 22 23 24 25 26 27 28 29 2A 2B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 E3 12 64 13 EC F2 E8 45 43 B2 85 80 32 FD 71 2C  
	 26 6C 20 28 B1 F0 59 02 58 1B 40 14 D1 9A 15 CF  
	 99 1D 82 F6 30 C7 26 2B 49 D8 54 C0 CC EB 8F D5  
	 B0 7C 5D C6 C2 82 6A A4 E8 56 57 7C 9B 8E 3C B8  
	 FC DA 32 BE AF 3C 07 5B 44 BD 64 C4 55 D6 00 23  
	 81 95 CD BC 6B 6B 52 42 8A A6 3B F2 2C C1 49 DD  
	 D9 8F 3B E4 EE 46 1E 8C E1 B3 1D C2 27 A0 76 35  
	 A7 EE 12 B1 43 06 A2 AD 87 A0 17 DD A0 59 7B A9  
	 15 E8 EF 69 CF F2 42 2D D1 AC 8B 90 22 CD 29 BA  
	 0E B9 DD 64 37 85 17 AF EB E5 E7 1B 7E 09 57 CC  
	 4F 63 84 3B 1F 2E 1D D5 38 A2 7C 7C 19 6A D2 B3  
	 FF 15 33 0A 91 3C 69 B2 86 B9 8B 45 F5 04 1E 87  
	 5F 34 D3 32 46 3B 4D CF  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 30 31 32 33 34 35 36 37 38 39 3A 3B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 30 31 32 33 34 35 36 37 38 39 3A 3B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 F3 38 F2 D9 E9 91 CD 5E 41 E9 96 87 3B CF 6A F6  
	 B3 C0 8B C0 38 6E E2 24 20 27 BC BD 58 5A 9D 32  
	 21 30 AB C8 AC 83 4D B0 F7 5D 88 AC E9 42 EA 71  
	 9A 13 2D 30 4E 40 E8 09 0C FB F1 24 8B 81 B6 9F  
	 92 A8 32 01 4A B4 EA 5D 5E FF E0 91 6E 0C FF 93  
	 E0 82 EF D8 49 BB 4D CA 63 AD 3F B7 29 0F BF F3  
	 18 D3 22 59 3F EA B4 2D EC E8 39 B2 38 81 E8 32  
	 B2 DB 80 04 C6 89 E4 47 AF 85 73 10 D3 6A 5D 61  
	 99 23 7F 8D 51 4B 50 31 51 1D DE BB 6F 12 21 71  
	 FF 06 81 3A 48 2D 24 B5 A4 34 1A 4E C3 58 33 D1  
	 0D 77 82 4A 97 66 45 45 8D 91 1D 60 7A 2A 24 0C  
	 CF 79 B0 42 3E 7F A4 B8 52 2C 14 E7 92 C7 7C 0D  
	 C7 AD CA 84 44 F7 DC 87  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 FA B1 A0 DA A8 A3 52 8C 7F BA 60 C8 57 47 91 87  
	 60 E1 46 69 F0 2D 96 F9 C5 3D 71 E9 8A A5 CD D5  
	 E8 0B 15 F6 0E 7E 00 E1 5B 81 44 F8 60 50 D2 BA  
	 3A D6 28 01 DE CD 95 DF 5A CF 14 FA 2E 80 DD 98  
	 08 BE F8 FD 07 5A 69 4A AA CE 90 DB DB B5 52 92  
	 59 B8 88 44 91 10 BA 3E CD 1C 37 DD 69 19 9E 72  
	 24 1F DA AF 00 A8 8B A9 76 C3 0D 94 FF F2 10 98  
	 82 7D DC 97 1B D9 DE F7 A1 49 81 B3 C9 3C B9 A4  
	 34 2E 7B 25 35 99 A3 1F 5B 2F F1 5F E3 EC DA B8  
	 D4 17 AC 91 12 3B 37 48 6C 42 2D 2F 3D 4F 82 A3  
	 13 B2 D6 4B 0E 9C A0 54 29 18 36 5C 47 BA FD 85  
	 57 1D 5B 9C 75 94 8B 11 F0 81 BD D9 20 3A 2A 5D  
	 77 4F E8 B5 05 C8 71 82  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 60 A1 F3 3D FA FE 48 E4 83 09 0D 46 A0 53 34 B3  
	 44 BB 8F AF 3A 11 C9 3E 2A 0E C7 CC CC FF 28 E5  
	 CF 09 91 6E CC 40 B3 D6 9D 9E 4E EC 4A FB 0E DF  
	 F0 5D FF 1E F4 BF 2C 1B 89 55 28 C0 8C 1B BB 26  
	 6A A5 B1 7A 71 4C D0 46 E2 1D C8 8E 82 13 67 33  
	 6C 10 B4 F0 03 FD E4 D8 1F A0 5D 45 E3 DE 61 17  
	 39 53 42 08 5D 35 60 1D A1 11 4F 13 13 E0 C5 3A  
	 5A D6 2B EE 10 DE 2F F8 A9 F3 5C 29 A0 43 28 03  
	 60 93 C0 47 30 76 87 0E 4F A9 F6 62 08 69 41 D5  
	 95 9B B4 FE 7D 07 5A 4C 43 45 A2 F5 A3 68 3A 76  
	 FD 01 80 F8 CE E2 AC CC 77 25 C3 99 F4 CC 93 D6  
	 C5 50 BA 08 55 42 94 0F 08 B6 81 68 D2 63 2C F6  
	 52 FE 7B 83 FC 69 98 9D  
	Encoded n 
	 06 01  
	Encoded L 
	 01 00 02  
	Length of newX is <1592> 
	newX is  
	 01 0C 15 BC 36 A4 F1 17 F4 FD AB 53 64 D5 DA 67  
	 8C 2E 35 CE 09 50 A5 7C 1A 23 5E CC 83 0E CE 29  
	 EC EE FC 59 81 3E E8 4F 8E B9 B6 D7 4A 4A 2D 05  
	 BB 8D 1E D7 4A 72 D2 81 F9 6A D1 F7 A0 6B FA 71  
	 C2 45 E3 12 64 13 EC F2 E8 45 43 B2 85 80 32 FD  
	 71 2C 26 6C 20 28 B1 F0 59 02 58 1B 40 14 D1 9A  
	 15 CF F3 38 F2 D9 E9 91 CD 5E 41 E9 96 87 3B CF  
	 6A F6 B3 C0 8B C0 38 6E E2 24 20 27 BC BD 58 5A  
	 9D 32 FA B1 A0 DA A8 A3 52 8C 7F BA 60 C8 57 47  
	 91 87 60 E1 46 69 F0 2D 96 F9 C5 3D 71 E9 8A A5  
	 CD D5 60 A1 F3 3D FA FE 48 E4 83 09 0D 46 A0 53  
	 34 B3 44 BB 8F AF 3A 11 C9 3E 2A 0E C7 CC CC FF  
	 28 E5 06 01 01 00 02  
	Encoded N 
	 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	Encoded S 
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61  
	bytepad data 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 01 A8 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3  
	 26 E0 DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07  
	 7A C2 88 B1 87 EA AF 06 C1 D6 B5 5C D2 8D 7D 80  
	 4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F  
	 0A 7B 05 76 7C 54 B7 B5 01 46 FE D2 37 24 55 2E  
	 CE A3 89 3B 57 B2 20 A8 CD DC 04 9C 68 F9 FE EE  
	 71 87 46 11 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7  
	 43 B5 38 47 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41  
	 72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3  
	 BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38  
	 75 D6 D0 8F 9E A9 A8 CC 72 D7 4D A3 F3 E0 06 05  
	 B8 10 7B 0C F8 D3 75 8C 09 3C 60 57 55 A4 70 F3  
	 43 BD 8F 4A 7C D9 DD 25  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 9E 2F 09 BE D5 1D 75 A2 32 D2 14 95 32 4F 60 E3  
	 26 E0 DF AE ED 09 D6 61 AF A8 94 67 BE B0 24 07  
	 7A C2 88 B1 87 EA AF 06 C1 D6 B5 5C D2 8D 7D 80  
	 4C 48 99 28 30 EF 3B FF 91 88 66 EB 08 BF EA 6F  
	 0A 7B 05 76 7C 54 B7 B5 01 46 FE D2 37 24 55 2E  
	 CE A3 89 3B 57 B2 20 A8 CD DC 04 9C 68 F9 FE EE  
	 71 87 46 11 5D 35 EE D5 E4 72 2C 6C 9F B5 0B F7  
	 43 B5 38 47 5C 57 AC 05 0B 86 83 CF 97 E1 AA 41  
	 72 08 50 20 B3 E5 0C B5 5B BA 2E A8 7C 6D 18 A3  
	 BB DC CB 35 A0 5F B0 04 4F 80 C3 DE 53 B4 42 38  
	 75 D6 D0 8F 9E A9 A8 CC 72 D7 4D A3 F3 E0 06 05  
	 B8 10 7B 0C F8 D3 75 8C 09 3C 60 57 55 A4 70 F3  
	 43 BD 8F 4A 7C D9 DD 25  
	Data to be absorbed 
	 01 0C 15 BC 36 A4 F1 17 F4 FD AB 53 64 D5 DA 67  
	 8C 2E 35 CE 09 50 A5 7C 1A 23 5E CC 83 0E CE 29  
	 EC EE FC 59 81 3E E8 4F 8E B9 B6 D7 4A 4A 2D 05  
	 BB 8D 1E D7 4A 72 D2 81 F9 6A D1 F7 A0 6B FA 71  
	 C2 45 E3 12 64 13 EC F2 E8 45 43 B2 85 80 32 FD  
	 71 2C 26 6C 20 28 B1 F0 59 02 58 1B 40 14 D1 9A  
	 15 CF F3 38 F2 D9 E9 91 CD 5E 41 E9 96 87 3B CF  
	 6A F6 B3 C0 8B C0 38 6E E2 24 20 27 BC BD 58 5A  
	 9D 32 FA B1 A0 DA A8 A3 52 8C 7F BA 60 C8 57 47  
	 91 87 60 E1 46 69 F0 2D 96 F9 C5 3D 71 E9 8A A5  
	 CD D5 60 A1 F3 3D FA FE 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 9F 23 1C 02 E3 B9 84 B5 C6 2F BF C6 56 9A BA 84  
	 AA CE EA 60 E4 59 73 1D B5 8B CA AB 3D BE EA 2E  
	 96 2C 74 E8 06 D4 47 49 4F 6F 03 8B 98 C7 50 85  
	 F7 C5 87 FF 7A 9D E9 7E 68 E2 B7 1C A8 D4 10 1E  
	 C8 3E E6 64 18 47 5B 47 E9 03 BD 60 B2 A4 67 D3  
	 BF 8F AF 57 77 9A 91 58 94 DE 5C 87 28 ED 2F 74  
	 64 48 B5 29 AF EC 07 44 29 2C 6D 85 09 32 30 38  
	 29 43 8B 87 D7 97 94 6B E9 A2 A3 E8 2B 5C F2 1B  
	 EF 3A AA 91 13 3F A4 16 09 36 51 12 1C A5 4F E4  
	 2A 5B AB D4 E6 36 40 29 D9 79 06 E3 22 5D C8 9D  
	 B8 03 B0 2E 6D 94 52 32 72 D7 4D A3 F3 E0 06 05  
	 B8 10 7B 0C F8 D3 75 8C 09 3C 60 57 55 A4 70 F3  
	 43 BD 8F 4A 7C D9 DD 25  
	 
	After Permutation 
	 61 C6 F7 78 46 ED 4F 16 EA 62 6D 73 89 24 B6 07  
	 80 66 45 2B CD 85 5D 92 44 A6 69 F9 BB 53 C7 88  
	 C7 1E 70 30 51 77 34 9C DA E2 6F AF 51 EE DC 66  
	 D9 95 1A B9 34 C2 C1 F5 9A 78 EB 23 75 86 24 FC  
	 D0 AB C4 53 62 1E D1 4E D5 DD 6D E8 80 A8 DF 72  
	 BC 57 8A A6 26 D9 98 6C AF E0 CF 5B 5E 18 23 52  
	 0D 11 E4 D4 0F 6C A4 D7 22 94 29 47 44 3F 9E 8C  
	 39 51 56 5A CD 35 0E DA 92 55 85 6B C9 D3 E9 0A  
	 CD 98 4D 01 E4 00 AC 2C 63 2E D3 F8 CF 18 13 A9  
	 80 1D 8B B2 17 14 5E 18 18 B8 11 89 62 C2 D6 CB  
	 3A A1 64 1D 4F E9 51 BB 39 C1 AA 33 47 9A DB AB  
	 67 2B C4 25 B4 83 65 2A 16 3B F9 C3 51 76 01 4C  
	 E2 F3 2F 8C 83 5D A5 CA  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 61 C6 F7 78 46 ED 4F 16 EA 62 6D 73 89 24 B6 07  
	 80 66 45 2B CD 85 5D 92 44 A6 69 F9 BB 53 C7 88  
	 C7 1E 70 30 51 77 34 9C DA E2 6F AF 51 EE DC 66  
	 D9 95 1A B9 34 C2 C1 F5 9A 78 EB 23 75 86 24 FC  
	 D0 AB C4 53 62 1E D1 4E D5 DD 6D E8 80 A8 DF 72  
	 BC 57 8A A6 26 D9 98 6C AF E0 CF 5B 5E 18 23 52  
	 0D 11 E4 D4 0F 6C A4 D7 22 94 29 47 44 3F 9E 8C  
	 39 51 56 5A CD 35 0E DA 92 55 85 6B C9 D3 E9 0A  
	 CD 98 4D 01 E4 00 AC 2C 63 2E D3 F8 CF 18 13 A9  
	 80 1D 8B B2 17 14 5E 18 18 B8 11 89 62 C2 D6 CB  
	 3A A1 64 1D 4F E9 51 BB 39 C1 AA 33 47 9A DB AB  
	 67 2B C4 25 B4 83 65 2A 16 3B F9 C3 51 76 01 4C  
	 E2 F3 2F 8C 83 5D A5 CA  
	Data to be absorbed 
	 48 E4 83 09 0D 46 A0 53 34 B3 44 BB 8F AF 3A 11  
	 C9 3E 2A 0E C7 CC CC FF 28 E5 06 01 01 00 02 04  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 29 22 74 71 4B AB EF 45 DE D1 29 C8 06 8B 8C 16  
	 49 58 6F 25 0A 49 91 6D 6C 43 6F F8 BA 53 C5 8C  
	 C7 1E 70 30 51 77 34 9C DA E2 6F AF 51 EE DC 66  
	 D9 95 1A B9 34 C2 C1 F5 9A 78 EB 23 75 86 24 FC  
	 D0 AB C4 53 62 1E D1 4E D5 DD 6D E8 80 A8 DF 72  
	 BC 57 8A A6 26 D9 98 6C AF E0 CF 5B 5E 18 23 52  
	 0D 11 E4 D4 0F 6C A4 D7 22 94 29 47 44 3F 9E 8C  
	 39 51 56 5A CD 35 0E DA 92 55 85 6B C9 D3 E9 0A  
	 CD 98 4D 01 E4 00 AC 2C 63 2E D3 F8 CF 18 13 A9  
	 80 1D 8B B2 17 14 5E 18 18 B8 11 89 62 C2 D6 CB  
	 3A A1 64 1D 4F E9 51 3B 39 C1 AA 33 47 9A DB AB  
	 67 2B C4 25 B4 83 65 2A 16 3B F9 C3 51 76 01 4C  
	 E2 F3 2F 8C 83 5D A5 CA  
	 
	After Permutation 
	 F7 FD 53 12 89 6C 66 85 C8 28 AF 7E 2A DB 97 E3  
	 93 E7 F8 D5 4E 3C 2E A4 B9 5E 5A CA 37 96 E8 FC  
	 DB F1 B0 69 CC 51 CE EC D7 00 4B 88 90 DA 33 ED  
	 C1 B1 93 93 84 93 D9 F8 6C 05 2B 68 23 E0 8B 5E  
	 31 55 FD A1 1F 96 97 91 28 FC 5B C5 D7 46 A4 AB  
	 B5 F5 E4 51 C8 4D 48 AF 73 1F 4E BE 6B AD 12 2D  
	 12 2F FC 77 09 D5 03 62 E7 02 92 2D 37 73 EA 58  
	 8D C6 6C ED CF C8 03 D3 15 67 F0 84 3A FB D2 5C  
	 77 71 CB 13 53 88 46 9F 44 A8 4D 9E 64 04 F4 43  
	 7B 2A 7C 7D 4D 1D AD 47 A8 AD E9 A0 23 1D F3 2C  
	 2A 05 E9 F7 58 FE 4F 12 17 48 72 61 88 F7 C8 14  
	 67 8E 7C 25 1E 5D 4F 91 5A 35 61 91 5B C3 89 63  
	 90 44 27 8D C6 07 94 75  
	Outval is 
	 F7 FD 53 12 89 6C 66 85 C8 28 AF 7E 2A DB 97 E3  
	 93 E7 F8 D5 4E 3C 2E A4 B9 5E 5A CA 37 96 E8 FC  
	 
	============================================================== 
	 
	ParallelHash: 
	 Sample #1 
	 
	Security Strength: 256-bits 
	 
	Length of data is 192-bits 
	Data is 
	 00 01 02 03 04 05 06 07 10 11 12 13 14 15 16 17  
	 20 21 22 23 24 25 26 27  
	 
	Block size (B) is 8 
	 
	Requested output length is 512-bits 
	 
	S (as a character string) is 
	 "(null)" 
	------------------------------------------------------------ 
	Encoded B 
	 01 08  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED 53 90  
	 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD 50 58  
	 14 2C 63 B0 B5 48 E2 96 C3 7F 89 72 67 7B 7F AF  
	 0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8 B6 DE  
	 9A 32 B1 5E 28 99 12 CA 73 1A 12 5C 15 FA 69 40  
	 3C B3 11 58 F7 D6 15 9A E3 E2 07 78 B5 9A 6F 43  
	 EE 3E 27 34 7D 5E C2 38 B7 C3 A2 98 12 40 64 87  
	 96 2C 23 9A 40 BC F9 C4 1E B2 85 CA A4 CD 27 0E  
	 F7 CC AB 33 46 05 21 6D 20 5F 44 9F 30 B4 BF 3D  
	 53 06 6C 1B 81 C0 6D 08 10 2C F5 31 44 51 CD C0  
	 A1 E1 DF F9 17 72 A4 E0 3D 3A CF 72 65 7C 74 D7  
	 32 E3 90 95 34 3B D4 62 CF EC 5F 7D 8E B2 17 79  
	 6E 07 C6 B2 61 05 32 B7  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66 E6 C2  
	 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F 29 FB  
	 DC 05 E8 C3 01 0B E3 22 C3 07 77 CA 0D 8C A6 67  
	 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C C8 E1  
	 87 5E 0C C3 20 45 C0 92 04 AA C2 A6 AF 02 D3 AA  
	 8C 28 C9 49 F9 C6 09 31 89 A0 7F 27 DE 0D B3 02  
	 E5 4D E1 AE 28 FB D4 05 D0 38 30 02 7B AD 36 4C  
	 4A 93 EE AE 1B BD 5B F5 86 7F EF 6F 05 71 0A 9E  
	 CA FA A2 20 54 A6 46 57 43 81 C9 C2 D8 2B F5 50  
	 2C 4A 6E D5 6E F4 68 BF 6C 12 5C EF 71 34 73 13  
	 E0 6C A7 2F F2 BE 0D 61 41 77 20 D6 C5 13 28 A3  
	 E0 1A 87 1D DF B7 75 94 47 0E 83 E9 36 0A 77 1E  
	 87 47 2F 45 E9 28 58 CA  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 81 BD FC 2D 48 E0 97 89 68 B3 1C E7 85 FE 36 C7  
	 CC 6B 41 30 23 4F D6 7C 51 DA 5D FB 7C 81 68 7A  
	 28 06 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA 8D 5E  
	 91 B3 96 2E EA 48 BD B7 F2 C8 94 FA 52 00 D3 AC  
	 06 6A C1 E5 25 12 DC 6B B6 8F 42 3E F4 F4 C9 4E  
	 E5 3D DF E1 AB A1 DC 26 02 21 0B 4D 99 88 52 4C  
	 06 AC 85 74 C7 65 23 F9 A6 69 31 16 9C 8A 02 6E  
	 C3 A9 83 1D 65 E6 46 C7 9D FF 99 20 D1 A6 D6 75  
	 F8 4B A7 20 38 CA 2E ED C1 69 B2 42 DA 66 2B A8  
	 26 60 C7 34 9E 3C 1F 15 95 47 C5 AC C0 B5 4A D7  
	 B7 C8 7B F8 69 09 3A FB D4 CA 2C 4D 1E 7B 1C 9D  
	 5C 31 C7 BC CB C4 C4 9C 56 4E 6C 2B 07 49 2A 6E  
	 01 97 01 1A EE 27 74 BB  
	Encoded n 
	 03 01  
	Encoded L 
	 02 00 02  
	Length of newX is <1592> 
	newX is  
	 01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED  
	 53 90 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD  
	 50 58 14 2C 63 B0 B5 48 E2 96 C3 7F 89 72 67 7B  
	 7F AF 0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8  
	 B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66  
	 E6 C2 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F  
	 29 FB DC 05 E8 C3 01 0B E3 22 C3 07 77 CA 0D 8C  
	 A6 67 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C  
	 C8 E1 81 BD FC 2D 48 E0 97 89 68 B3 1C E7 85 FE  
	 36 C7 CC 6B 41 30 23 4F D6 7C 51 DA 5D FB 7C 81  
	 68 7A 28 06 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA  
	 8D 5E 91 B3 96 2E EA 48 BD B7 F2 C8 94 FA 52 00  
	 D3 AC 03 01 02 00 02  
	Encoded N 
	 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	Encoded S 
	 01 00  
	bytepad data 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 70 BA DC 22 9E 10 00 1C 0C BA 38 8D 6F F6 80 B3  
	 F2 FC B8 27 FF EC 61 CA B2 E2 E9 27 0C 6C A2 77  
	 B8 CE F8 C8 09 0D 32 9D 77 C6 16 94 CD 1C 4F 50  
	 3C 5D B2 75 DF 70 9B 0A EC 08 53 98 F7 2B E0 0C  
	 D0 94 E0 34 BD 8C 9F C4 EC A9 81 1B C2 EC 08 5A  
	 82 2E 07 9E BB 39 EC D8 A0 B1 12 77 73 36 EB 5A  
	 A3 A1 F1 ED 17 6B B1 95 B3 71 AC 52 0F 04 CA C1  
	 16 7A B7 0C AD 33 4F 00 06 F3 1A 10 0C 5D B1 A5  
	 AE C0 6F 6A 1C DA 33 5A C0 A6 25 D5 F5 25 8D E9  
	 79 FE F3 96 07 00 A5 DE 64 D8 E6 F7 95 4E D1 93  
	 87 EB 7B AC A9 46 9C B9 B3 E3 3B 17 50 D2 82 5D  
	 1C CD 1E 2D 97 97 A5 B8 BB 1D 1A C1 55 F7 8F 29  
	 17 A1 2D 3B 21 3D 23 33  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 70 BA DC 22 9E 10 00 1C 0C BA 38 8D 6F F6 80 B3  
	 F2 FC B8 27 FF EC 61 CA B2 E2 E9 27 0C 6C A2 77  
	 B8 CE F8 C8 09 0D 32 9D 77 C6 16 94 CD 1C 4F 50  
	 3C 5D B2 75 DF 70 9B 0A EC 08 53 98 F7 2B E0 0C  
	 D0 94 E0 34 BD 8C 9F C4 EC A9 81 1B C2 EC 08 5A  
	 82 2E 07 9E BB 39 EC D8 A0 B1 12 77 73 36 EB 5A  
	 A3 A1 F1 ED 17 6B B1 95 B3 71 AC 52 0F 04 CA C1  
	 16 7A B7 0C AD 33 4F 00 06 F3 1A 10 0C 5D B1 A5  
	 AE C0 6F 6A 1C DA 33 5A C0 A6 25 D5 F5 25 8D E9  
	 79 FE F3 96 07 00 A5 DE 64 D8 E6 F7 95 4E D1 93  
	 87 EB 7B AC A9 46 9C B9 B3 E3 3B 17 50 D2 82 5D  
	 1C CD 1E 2D 97 97 A5 B8 BB 1D 1A C1 55 F7 8F 29  
	 17 A1 2D 3B 21 3D 23 33  
	Data to be absorbed 
	 01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED  
	 53 90 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD  
	 50 58 14 2C 63 B0 B5 48 E2 96 C3 7F 89 72 67 7B  
	 7F AF 0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8  
	 B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66  
	 E6 C2 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F  
	 29 FB DC 05 E8 C3 01 0B E3 22 C3 07 77 CA 0D 8C  
	 A6 67 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C  
	 C8 E1 81 BD FC 2D 48 E0 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 71 B2 68 6F 30 83 F2 2A 00 F3 2C 77 F6 69 BA 5E  
	 A1 6C A5 60 5E 5A 75 DA 2C A9 12 CF A9 F9 77 AA  
	 E8 96 EC E4 6A BD 87 D5 95 50 D5 EB 44 6E 28 2B  
	 43 F2 BE 57 60 F5 24 96 65 14 48 09 01 BA 64 D4  
	 66 4A E5 9A F4 55 88 C1 02 FA DA F2 6D CA 87 3C  
	 64 EC A5 B4 32 87 A6 34 7F 10 E4 18 3E 32 7C 65  
	 8A 5A 2D E8 FF A8 B0 9E 50 53 6F 55 78 CE C7 4D  
	 B0 1D 14 0F 2F 85 D5 49 A7 A4 3D 5A A8 3F 64 39  
	 66 21 EE D7 E0 F7 7B BA C0 A6 25 D5 F5 25 8D E9  
	 79 FE F3 96 07 00 A5 DE 64 D8 E6 F7 95 4E D1 93  
	 87 EB 7B AC A9 46 9C B9 B3 E3 3B 17 50 D2 82 5D  
	 1C CD 1E 2D 97 97 A5 B8 BB 1D 1A C1 55 F7 8F 29  
	 17 A1 2D 3B 21 3D 23 33  
	 
	After Permutation 
	 74 9D 13 B1 82 99 16 82 E5 1D 05 18 0E 40 50 15  
	 28 8C 0B 7E 86 6E B0 F6 AD 44 F1 22 D6 A9 E1 A9  
	 FE 31 AB 60 D5 8F 2B 32 52 B3 51 CD 59 BB B9 87  
	 33 A7 D0 47 98 1C C1 F2 27 7E B8 19 CD 47 92 71  
	 09 9D 05 31 E4 FF 54 3E 2A EC E4 62 71 71 E9 F0  
	 E5 E2 6B C5 20 35 F1 D4 B3 2C 32 CE 91 71 35 84  
	 30 C6 0F 52 BC 15 C0 CB B9 0C 2B BA A9 9A 50 B2  
	 FA 25 F6 AF CE 38 92 17 59 E6 5A 93 98 82 E3 50  
	 6C 68 E1 D2 A2 30 DA 10 47 E6 3E E3 D9 44 6D 82  
	 E5 FD B6 E2 4A 1A B7 DF 0E D6 26 CD 69 B2 7A EF  
	 FA 22 6E 1F AF 34 39 02 A8 B0 38 08 DE 5A FF D3  
	 E1 E1 87 D2 15 E8 A8 8B 33 48 58 B0 09 C3 8E FC  
	 0D 0B 46 CA 50 59 38 22  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 74 9D 13 B1 82 99 16 82 E5 1D 05 18 0E 40 50 15  
	 28 8C 0B 7E 86 6E B0 F6 AD 44 F1 22 D6 A9 E1 A9  
	 FE 31 AB 60 D5 8F 2B 32 52 B3 51 CD 59 BB B9 87  
	 33 A7 D0 47 98 1C C1 F2 27 7E B8 19 CD 47 92 71  
	 09 9D 05 31 E4 FF 54 3E 2A EC E4 62 71 71 E9 F0  
	 E5 E2 6B C5 20 35 F1 D4 B3 2C 32 CE 91 71 35 84  
	 30 C6 0F 52 BC 15 C0 CB B9 0C 2B BA A9 9A 50 B2  
	 FA 25 F6 AF CE 38 92 17 59 E6 5A 93 98 82 E3 50  
	 6C 68 E1 D2 A2 30 DA 10 47 E6 3E E3 D9 44 6D 82  
	 E5 FD B6 E2 4A 1A B7 DF 0E D6 26 CD 69 B2 7A EF  
	 FA 22 6E 1F AF 34 39 02 A8 B0 38 08 DE 5A FF D3  
	 E1 E1 87 D2 15 E8 A8 8B 33 48 58 B0 09 C3 8E FC  
	 0D 0B 46 CA 50 59 38 22  
	Data to be absorbed 
	 97 89 68 B3 1C E7 85 FE 36 C7 CC 6B 41 30 23 4F  
	 D6 7C 51 DA 5D FB 7C 81 68 7A 28 06 12 3D 2D ED  
	 47 E4 CD E9 61 A4 48 EA 8D 5E 91 B3 96 2E EA 48  
	 BD B7 F2 C8 94 FA 52 00 D3 AC 03 01 02 00 02 04  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 E3 14 7B 02 9E 7E 93 7C D3 DA C9 73 4F 70 73 5A  
	 FE F0 5A A4 DB 95 CC 77 C5 3E D9 24 C4 94 CC 44  
	 B9 D5 66 89 B4 2B 63 D8 DF ED C0 7E CF 95 53 CF  
	 8E 10 22 8F 0C E6 93 F2 F4 D2 BB 18 CF 47 90 75  
	 09 9D 05 31 E4 FF 54 3E 2A EC E4 62 71 71 E9 F0  
	 E5 E2 6B C5 20 35 F1 D4 B3 2C 32 CE 91 71 35 84  
	 30 C6 0F 52 BC 15 C0 CB B9 0C 2B BA A9 9A 50 B2  
	 FA 25 F6 AF CE 38 92 17 59 E6 5A 93 98 82 E3 50  
	 6C 68 E1 D2 A2 30 DA 90 47 E6 3E E3 D9 44 6D 82  
	 E5 FD B6 E2 4A 1A B7 DF 0E D6 26 CD 69 B2 7A EF  
	 FA 22 6E 1F AF 34 39 02 A8 B0 38 08 DE 5A FF D3  
	 E1 E1 87 D2 15 E8 A8 8B 33 48 58 B0 09 C3 8E FC  
	 0D 0B 46 CA 50 59 38 22  
	 
	After Permutation 
	 BC 1E F1 24 DA 34 49 5E 94 8E AD 20 7D D9 84 22  
	 35 DA 43 2D 2B BC 54 B4 C1 10 E6 4C 45 11 05 53  
	 1B 7F 2A 3E 0C E0 55 C0 28 05 E7 C2 DE 1F B7 46  
	 AF 97 A1 DD 01 F4 3B 82 4E 31 B8 76 12 41 04 29  
	 F3 1E B3 5A BD 7F F9 87 43 79 D2 8D 16 4D BB A7  
	 A4 1E BC C6 14 B4 A0 26 27 D7 1B BE CC E4 BA AA  
	 04 2D 9C A7 41 A4 60 C6 79 12 D1 C3 89 26 22 6D  
	 42 9A 07 61 1D 3B 24 23 94 4C E7 F9 0D 42 0B 72  
	 13 5C B2 9E A8 BB 79 AF 61 6F 4B DD F1 C4 A7 85  
	 3C F3 E9 B4 3A 1C 98 E4 E1 FB 28 FE C2 86 79 C1  
	 4D F8 26 54 D2 33 46 7C 45 F9 63 4A 96 9C 45 00  
	 65 7B 76 88 3A C3 77 A4 3B 32 2B D2 84 DD 07 1A  
	 6B 87 32 D5 8E 74 AF 15  
	Outval is 
	 BC 1E F1 24 DA 34 49 5E 94 8E AD 20 7D D9 84 22  
	 35 DA 43 2D 2B BC 54 B4 C1 10 E6 4C 45 11 05 53  
	 1B 7F 2A 3E 0C E0 55 C0 28 05 E7 C2 DE 1F B7 46  
	 AF 97 A1 DD 01 F4 3B 82 4E 31 B8 76 12 41 04 29  
	 
	============================================================== 
	 
	ParallelHash: 
	 Sample #2 
	 
	Security Strength: 256-bits 
	 
	Length of data is 192-bits 
	Data is 
	 00 01 02 03 04 05 06 07 10 11 12 13 14 15 16 17  
	 20 21 22 23 24 25 26 27  
	 
	Block size (B) is 8 
	 
	Requested output length is 512-bits 
	 
	S (as a character string) is 
	 "Parallel Data" 
	------------------------------------------------------------ 
	Encoded B 
	 01 08  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 01 02 03 04 05 06 07 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED 53 90  
	 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD 50 58  
	 14 2C 63 B0 B5 48 E2 96 C3 7F 89 72 67 7B 7F AF  
	 0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8 B6 DE  
	 9A 32 B1 5E 28 99 12 CA 73 1A 12 5C 15 FA 69 40  
	 3C B3 11 58 F7 D6 15 9A E3 E2 07 78 B5 9A 6F 43  
	 EE 3E 27 34 7D 5E C2 38 B7 C3 A2 98 12 40 64 87  
	 96 2C 23 9A 40 BC F9 C4 1E B2 85 CA A4 CD 27 0E  
	 F7 CC AB 33 46 05 21 6D 20 5F 44 9F 30 B4 BF 3D  
	 53 06 6C 1B 81 C0 6D 08 10 2C F5 31 44 51 CD C0  
	 A1 E1 DF F9 17 72 A4 E0 3D 3A CF 72 65 7C 74 D7  
	 32 E3 90 95 34 3B D4 62 CF EC 5F 7D 8E B2 17 79  
	 6E 07 C6 B2 61 05 32 B7  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 10 11 12 13 14 15 16 17 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66 E6 C2  
	 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F 29 FB  
	 DC 05 E8 C3 01 0B E3 22 C3 07 77 CA 0D 8C A6 67  
	 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C C8 E1  
	 87 5E 0C C3 20 45 C0 92 04 AA C2 A6 AF 02 D3 AA  
	 8C 28 C9 49 F9 C6 09 31 89 A0 7F 27 DE 0D B3 02  
	 E5 4D E1 AE 28 FB D4 05 D0 38 30 02 7B AD 36 4C  
	 4A 93 EE AE 1B BD 5B F5 86 7F EF 6F 05 71 0A 9E  
	 CA FA A2 20 54 A6 46 57 43 81 C9 C2 D8 2B F5 50  
	 2C 4A 6E D5 6E F4 68 BF 6C 12 5C EF 71 34 73 13  
	 E0 6C A7 2F F2 BE 0D 61 41 77 20 D6 C5 13 28 A3  
	 E0 1A 87 1D DF B7 75 94 47 0E 83 E9 36 0A 77 1E  
	 87 47 2F 45 E9 28 58 CA  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 20 21 22 23 24 25 26 27 1F 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 81 BD FC 2D 48 E0 97 89 68 B3 1C E7 85 FE 36 C7  
	 CC 6B 41 30 23 4F D6 7C 51 DA 5D FB 7C 81 68 7A  
	 28 06 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA 8D 5E  
	 91 B3 96 2E EA 48 BD B7 F2 C8 94 FA 52 00 D3 AC  
	 06 6A C1 E5 25 12 DC 6B B6 8F 42 3E F4 F4 C9 4E  
	 E5 3D DF E1 AB A1 DC 26 02 21 0B 4D 99 88 52 4C  
	 06 AC 85 74 C7 65 23 F9 A6 69 31 16 9C 8A 02 6E  
	 C3 A9 83 1D 65 E6 46 C7 9D FF 99 20 D1 A6 D6 75  
	 F8 4B A7 20 38 CA 2E ED C1 69 B2 42 DA 66 2B A8  
	 26 60 C7 34 9E 3C 1F 15 95 47 C5 AC C0 B5 4A D7  
	 B7 C8 7B F8 69 09 3A FB D4 CA 2C 4D 1E 7B 1C 9D  
	 5C 31 C7 BC CB C4 C4 9C 56 4E 6C 2B 07 49 2A 6E  
	 01 97 01 1A EE 27 74 BB  
	Encoded n 
	 03 01  
	Encoded L 
	 02 00 02  
	Length of newX is <1592> 
	newX is  
	 01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED  
	 53 90 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD  
	 50 58 14 2C 63 B0 B5 48 E2 96 C3 7F 89 72 67 7B  
	 7F AF 0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8  
	 B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66  
	 E6 C2 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F  
	 29 FB DC 05 E8 C3 01 0B E3 22 C3 07 77 CA 0D 8C  
	 A6 67 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C  
	 C8 E1 81 BD FC 2D 48 E0 97 89 68 B3 1C E7 85 FE  
	 36 C7 CC 6B 41 30 23 4F D6 7C 51 DA 5D FB 7C 81  
	 68 7A 28 06 12 3D 2D ED 47 E4 CD E9 61 A4 48 EA  
	 8D 5E 91 B3 96 2E EA 48 BD B7 F2 C8 94 FA 52 00  
	 D3 AC 03 01 02 00 02  
	Encoded N 
	 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	Encoded S 
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61  
	bytepad data 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 01 33 43 40 0A 0F 02 59 DF AD 3D D3 6B 30 8E C2  
	 0C B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C  
	 18 E8 58 FE 2B 0E 9B 73 CB 74 D1 A9 C7 F2 7C F8  
	 5A 91 6C D0 0A E6 DE 28 92 0B B1 DA 4B 54 B5 1E  
	 DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95  
	 B2 F4 4A FD D0 85 1D 43 85 DD 6E 57 59 1E CB 90  
	 E6 64 FE 27 CE 63 6A 18 35 70 C9 A5 D3 70 59 B7  
	 88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92  
	 99 58 C9 E8 FF 56 88 AF 51 3C 82 FC 18 8B 89 E3  
	 8E 82 C5 36 E7 3A 2E 70 F0 9A 64 6B 08 4C F4 7C  
	 B8 C0 E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88  
	 5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C  
	 30 29 9A DE D0 0B 10 B0  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 01 33 43 40 0A 0F 02 59 DF AD 3D D3 6B 30 8E C2  
	 0C B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C  
	 18 E8 58 FE 2B 0E 9B 73 CB 74 D1 A9 C7 F2 7C F8  
	 5A 91 6C D0 0A E6 DE 28 92 0B B1 DA 4B 54 B5 1E  
	 DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95  
	 B2 F4 4A FD D0 85 1D 43 85 DD 6E 57 59 1E CB 90  
	 E6 64 FE 27 CE 63 6A 18 35 70 C9 A5 D3 70 59 B7  
	 88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92  
	 99 58 C9 E8 FF 56 88 AF 51 3C 82 FC 18 8B 89 E3  
	 8E 82 C5 36 E7 3A 2E 70 F0 9A 64 6B 08 4C F4 7C  
	 B8 C0 E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88  
	 5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C  
	 30 29 9A DE D0 0B 10 B0  
	Data to be absorbed 
	 01 08 B4 4D AE 93 F2 36 0C 49 14 FA 99 9F 3A ED  
	 53 90 1D 47 A1 B6 14 10 9E 4B FB E8 A5 95 D5 DD  
	 50 58 14 2C 63 B0 B5 48 E2 96 C3 7F 89 72 67 7B  
	 7F AF 0C 22 BF 85 BF 9C 89 1C 1B 91 F6 91 84 D8  
	 B6 DE 05 AE 49 D9 17 05 EE 53 5B E9 AF 26 8F 66  
	 E6 C2 A2 2A 89 BE 4A EC DF A1 F6 6F 4D 04 97 3F  
	 29 FB DC 05 E8 C3 01 0B E3 22 C3 07 77 CA 0D 8C  
	 A6 67 A3 03 82 B6 9A 49 A1 57 27 4A A4 62 D5 9C  
	 C8 E1 81 BD FC 2D 48 E0 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 3B F7 0D A4 9C F0 6F D3 E4 29 29 F2 AF B4 2F  
	 5F 28 F4 9C DF 23 4C 45 D0 3F 10 C5 A4 50 8D 41  
	 48 B0 4C D2 48 BE 2E 3B 29 E2 12 D6 4E 80 1B 83  
	 25 3E 60 F2 B5 63 61 B4 1B 17 AA 4B BD C5 31 C6  
	 6C AE BD 67 0D F3 7A 5C D3 F9 F3 32 D2 9B 61 F3  
	 54 36 E8 D7 59 3B 57 AF 5A 7C 98 38 14 1A 5C AF  
	 CF 9F 22 22 26 A0 6B 13 D6 52 0A A2 A4 BA 54 3B  
	 2E C4 21 30 1C D8 FD E7 74 9F 73 13 B1 7B 8A 0E  
	 51 B9 48 55 03 7B C0 4F 51 3C 82 FC 18 8B 89 E3  
	 8E 82 C5 36 E7 3A 2E 70 F0 9A 64 6B 08 4C F4 7C  
	 B8 C0 E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88  
	 5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C  
	 30 29 9A DE D0 0B 10 B0  
	 
	After Permutation 
	 A8 7D 60 CA 49 52 76 79 8F 16 60 C6 A7 8F AF B8  
	 C3 8F 10 F6 C6 9B A3 A2 F9 CC 0D B0 1F F0 8A EA  
	 BE D0 AC 33 45 B3 F5 D4 75 3A E7 AA 80 DC 12 E5  
	 D1 32 9D C7 FA 98 FC A1 01 C6 33 1D 07 0E 6C DE  
	 B0 45 78 41 B3 B5 FD 2F 08 19 D2 B6 D2 C7 39 B1  
	 2C CC 27 2D 9F 30 5D 63 A6 24 3D 71 A9 40 84 9D  
	 29 18 0A FD 57 92 1E D0 D0 48 EF 88 CE 6F B3 7E  
	 E5 FB 32 5A 4F 34 54 25 CA 35 9A 0C 15 AE 5B AF  
	 69 D5 4C E4 1D 63 00 C4 05 1C 8A 05 6C BD CA FC  
	 97 90 BF 7D 67 C4 69 85 0E 5D C0 DD 3E 54 5D 3C  
	 13 56 A7 EC AC 92 24 CE D8 05 A0 0F 1A 6B BE D9  
	 60 B8 EF 14 57 3F DA A6 78 E8 DD 9C 12 F3 47 9F  
	 6E AA 7B C6 8B 6D B9 CE  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 A8 7D 60 CA 49 52 76 79 8F 16 60 C6 A7 8F AF B8  
	 C3 8F 10 F6 C6 9B A3 A2 F9 CC 0D B0 1F F0 8A EA  
	 BE D0 AC 33 45 B3 F5 D4 75 3A E7 AA 80 DC 12 E5  
	 D1 32 9D C7 FA 98 FC A1 01 C6 33 1D 07 0E 6C DE  
	 B0 45 78 41 B3 B5 FD 2F 08 19 D2 B6 D2 C7 39 B1  
	 2C CC 27 2D 9F 30 5D 63 A6 24 3D 71 A9 40 84 9D  
	 29 18 0A FD 57 92 1E D0 D0 48 EF 88 CE 6F B3 7E  
	 E5 FB 32 5A 4F 34 54 25 CA 35 9A 0C 15 AE 5B AF  
	 69 D5 4C E4 1D 63 00 C4 05 1C 8A 05 6C BD CA FC  
	 97 90 BF 7D 67 C4 69 85 0E 5D C0 DD 3E 54 5D 3C  
	 13 56 A7 EC AC 92 24 CE D8 05 A0 0F 1A 6B BE D9  
	 60 B8 EF 14 57 3F DA A6 78 E8 DD 9C 12 F3 47 9F  
	 6E AA 7B C6 8B 6D B9 CE  
	Data to be absorbed 
	 97 89 68 B3 1C E7 85 FE 36 C7 CC 6B 41 30 23 4F  
	 D6 7C 51 DA 5D FB 7C 81 68 7A 28 06 12 3D 2D ED  
	 47 E4 CD E9 61 A4 48 EA 8D 5E 91 B3 96 2E EA 48  
	 BD B7 F2 C8 94 FA 52 00 D3 AC 03 01 02 00 02 04  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 3F F4 08 79 55 B5 F3 87 B9 D1 AC AD E6 BF 8C F7  
	 15 F3 41 2C 9B 60 DF 23 91 B6 25 B6 0D CD A7 07  
	 F9 34 61 DA 24 17 BD 3E F8 64 76 19 16 F2 F8 AD  
	 6C 85 6F 0F 6E 62 AE A1 D2 6A 30 1C 05 0E 6E DA  
	 B0 45 78 41 B3 B5 FD 2F 08 19 D2 B6 D2 C7 39 B1  
	 2C CC 27 2D 9F 30 5D 63 A6 24 3D 71 A9 40 84 9D  
	 29 18 0A FD 57 92 1E D0 D0 48 EF 88 CE 6F B3 7E  
	 E5 FB 32 5A 4F 34 54 25 CA 35 9A 0C 15 AE 5B AF  
	 69 D5 4C E4 1D 63 00 44 05 1C 8A 05 6C BD CA FC  
	 97 90 BF 7D 67 C4 69 85 0E 5D C0 DD 3E 54 5D 3C  
	 13 56 A7 EC AC 92 24 CE D8 05 A0 0F 1A 6B BE D9  
	 60 B8 EF 14 57 3F DA A6 78 E8 DD 9C 12 F3 47 9F  
	 6E AA 7B C6 8B 6D B9 CE  
	 
	After Permutation 
	 CD F1 52 89 B5 4F 62 12 B4 BC 27 05 28 B4 95 26  
	 00 6D D9 B5 4E 2B 6A DD 1E F6 90 0D DA 39 63 BB  
	 33 A7 24 91 F2 36 96 9C A8 AF AE A2 9C 68 2D 47  
	 A3 93 C0 65 B3 8E 29 FA E6 51 A2 09 1C 83 31 10  
	 8E 23 BD 76 5E D3 26 15 3C AE EF B2 20 9E AC D8  
	 01 7A 2F CD AC 27 65 7E BB 39 E8 68 E4 25 8B 7F  
	 B0 A2 CF 20 A2 76 8D 17 66 53 F6 D6 B6 8F 7E 1D  
	 58 88 D4 D2 A5 3F 9B 64 4B 7D A1 38 42 67 9F 4D  
	 20 B3 52 4E 64 A0 A8 80 DC 0F 06 7F DB 9B D1 D1  
	 CE AD DE 2C 31 1F B3 17 06 4F E5 BD 0B 50 B5 E5  
	 38 5F DA 60 61 4E 95 D7 95 BE 7B 3C FE 90 5D 27  
	 42 CF 5A 87 DC F7 CC 8B 2F 09 0B 9F 68 28 CF 16  
	 24 D2 CC 38 E3 31 3A E0  
	Outval is 
	 CD F1 52 89 B5 4F 62 12 B4 BC 27 05 28 B4 95 26  
	 00 6D D9 B5 4E 2B 6A DD 1E F6 90 0D DA 39 63 BB  
	 33 A7 24 91 F2 36 96 9C A8 AF AE A2 9C 68 2D 47  
	 A3 93 C0 65 B3 8E 29 FA E6 51 A2 09 1C 83 31 10  
	 
	============================================================== 
	 
	ParallelHash: 
	 Sample #3 
	 
	Security Strength: 256-bits 
	 
	Length of data is 576-bits 
	Data is 
	 00 01 02 03 04 05 06 07 08 09 0A 0B 10 11 12 13  
	 14 15 16 17 18 19 1A 1B 20 21 22 23 24 25 26 27  
	 28 29 2A 2B 30 31 32 33 34 35 36 37 38 39 3A 3B  
	 40 41 42 43 44 45 46 47 48 49 4A 4B 50 51 52 53  
	 54 55 56 57 58 59 5A 5B  
	 
	Block size (B) is 12 
	 
	Requested output length is 512-bits 
	 
	S (as a character string) is 
	 "Parallel Data" 
	------------------------------------------------------------ 
	Encoded B 
	 01 0C  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 00 01 02 03 04 05 06 07 08 09 0A 0B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 01 02 03 04 05 06 07 08 09 0A 0B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 B3 30 73 7B 7F 00 88 7F FE 79 12 4D 61 77 38 2B  
	 92 FF DC 26 40 39 0F BB F3 85 26 8C 28 8A 9C 9A  
	 D9 56 91 00 1C 6B F0 65 DF 3A 72 BD 5E 58 DC 35  
	 B8 D9 04 5E EC 7B 39 E9 90 BE 97 90 C7 0D B7 A2  
	 23 44 61 61 A0 4F 93 F5 67 6F D3 DD 6D 39 C8 C6  
	 6D 07 CE CB 16 0E F8 E3 03 76 8C 7A 54 36 E5 E5  
	 76 F5 13 08 F1 63 4A 98 75 AD DE B6 9D B7 1C A6  
	 1A 45 D5 CE 91 89 93 AF C9 62 CF AC 2F 0C 62 F8  
	 21 A0 78 48 92 B0 F5 8C 7C C5 31 61 13 D2 FA 1B  
	 2D AB 48 63 05 98 9D A6 67 DE 3B FC B5 0E 6A 06  
	 D3 7C 69 CB FD 79 40 67 7D 6F EB 4F 37 C0 7E 4E  
	 8E 8C 56 E5 5B EC D0 7E D1 F3 BE 16 E8 20 5C 04  
	 25 77 B8 8F 4B 55 80 82  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 10 11 12 13 14 15 16 17 18 19 1A 1B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 10 11 12 13 14 15 16 17 18 19 1A 1B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 03 5D FB 3C 60 39 BC 8D E8 D2 F7 C3 C6 93 53 05  
	 32 F2 06 EC DB 5B 87 27 D1 4E D3 21 55 86 1C 94  
	 7E C0 7C 79 0F 2D 20 80 CC A1 43 3C 07 13 CC 87  
	 F9 5C A8 0E 58 E1 F2 64 D2 D6 14 36 22 B1 66 26  
	 D0 83 40 E6 EA CF 28 26 DE 9D 74 3B 22 C5 73 2C  
	 F7 39 B6 C6 E5 3A EE 01 F4 A9 B7 0D 30 85 FF AE  
	 63 29 A8 94 AF BA C1 96 A0 4B 2D 64 54 4D C4 E6  
	 E1 A7 A8 CE 55 B2 80 3F 75 E5 9E 3B D3 FE 8D 07  
	 5C 90 54 8F BC C3 FF 08 5F 1E 56 E3 33 48 D6 10  
	 69 AC 4E 9D D7 0B 70 0E C9 B4 9C 1D D4 40 11 DB  
	 CA FF 1A 1A 24 57 D1 C0 54 7E 86 44 CF 62 CF EB  
	 08 40 FE 6A 4F DF AE 87 22 85 93 B7 BB 87 97 53  
	 D0 A0 24 72 B9 F6 95 EB  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 20 21 22 23 24 25 26 27 28 29 2A 2B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 20 21 22 23 24 25 26 27 28 29 2A 2B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 9E 6C B2 AA D4 75 B3 59 72 A7 D7 E8 B3 D2 8E 47  
	 A9 49 53 F2 60 21 38 D6 18 D6 D6 DC 4F 85 7D E3  
	 E4 36 FC DD 96 77 37 CC 11 0D A9 77 F8 28 CD CF  
	 F4 24 CA F8 AD B7 F3 80 5D 9A 2D 2F EE 46 4C 9A  
	 BE 19 82 02 D9 A4 DF FF 49 3A 2A 1D BF C5 8E AE  
	 73 90 BF F2 21 2D 49 8B 61 30 ED E4 92 B7 27 67  
	 A1 8E 71 15 DA C6 98 D3 E2 68 A6 A7 51 41 74 AA  
	 7D 3E A8 0F AA 75 C7 29 A8 51 B5 31 F9 0F 39 37  
	 E6 39 07 24 A3 E6 F3 3A 8B E4 1B 7F EB 10 1C 87  
	 32 3D DF A1 EE 8A 3F 2A 94 2F 2E E8 D5 34 BA A4  
	 0B 23 38 64 87 7A 79 AE 71 9D FF F6 FA 34 97 4D  
	 E7 1C 43 23 6D F3 CF A0 75 82 54 E4 A3 04 A5 B1  
	 F3 80 D3 86 61 20 24 6F  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 30 31 32 33 34 35 36 37 38 39 3A 3B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 30 31 32 33 34 35 36 37 38 39 3A 3B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 F6 32 65 84 56 94 31 55 01 6E BE A7 B4 5D 7D 48  
	 9B 82 DA 73 A9 17 F5 DA 81 CA DD C5 38 F0 C8 F8  
	 7F 44 9F 61 C1 F1 5E C2 67 7A 09 60 22 99 4E F7  
	 5A 36 28 83 F9 D7 2E DA 6C EF E8 24 50 F5 CD 63  
	 85 EF 29 88 02 86 23 DB 1F 02 0B BF 77 44 07 97  
	 51 08 2D A7 5B 66 F7 76 DF 37 23 A5 5A D2 0B 5B  
	 32 61 7F 65 E5 94 59 0D 4E 0B C4 68 55 86 A8 20  
	 2E C7 82 CD D3 64 85 C6 70 D4 1E 77 54 36 9B E7  
	 7C B9 FA C3 5B 31 E6 65 66 37 29 55 5A 94 B7 1E  
	 AB 1D A8 58 FE 01 BE 09 90 09 85 EA 67 C4 2E E7  
	 84 6E D6 DC 77 3A D9 FC CD 89 D0 A7 AC 14 DF E3  
	 4E D1 63 BF 93 34 EC 55 54 10 5C BB E4 43 09 6B  
	 F4 16 68 67 AD D9 EF DC  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 40 41 42 43 44 45 46 47 48 49 4A 4B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 DC 24 D6 0D 29 65 BB 07 62 E3 98 D8 76 2D 84 70  
	 54 DC 02 DB 89 A0 47 91 5B B6 BB 1B 13 E1 86 BD  
	 E8 15 E8 2C 00 DE CD 7A 89 36 D2 5C D5 29 75 AF  
	 75 25 77 D4 4B 24 C5 40 64 13 CB A0 C7 E2 BF 62  
	 87 B6 57 E1 9B A0 B2 02 17 55 11 25 87 2B D2 FF  
	 E8 6B 04 FA EF 2D 5F 44 DD 9F 67 9F 0C 6B BC 10  
	 2F 5C 04 05 3D CC 76 33 02 CC 87 50 B0 FD FF 59  
	 6D 59 F0 9D EA 5E 70 B3 B6 EE B1 08 7B A4 C5 8E  
	 3E 79 69 2D A7 7A 74 4E 0C F8 23 51 C2 95 F8 70  
	 11 CF 16 A0 8F 3C 78 26 C0 F5 81 43 9F E4 81 96  
	 E9 1D 3A 2B 53 AC 19 75 08 E5 14 65 D8 34 2A 3F  
	 1D F7 65 3C D8 AA F5 D9 1C 81 C8 BC DD DF 85 6B  
	 5B BE C2 7E 01 D6 05 6A  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 50 51 52 53 54 55 56 57 58 59 5A 5B 1F 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 AB 62 AA AD 9B 66 43 3E D1 9C 73 D3 2C 45 D9 9B  
	 4C F9 DA 67 C1 EE 07 7B 7A 0B F5 26 C8 89 3B EA  
	 D3 4C D4 90 DD 6E 22 48 1D 7A 28 85 B4 D3 86 8D  
	 9C D2 B3 50 E2 92 66 D0 71 B5 3E FE E4 7C 08 EC  
	 26 1A B3 84 59 81 00 A4 48 4B 14 CF D1 E4 0F FF  
	 4B 34 E1 90 05 26 5A D5 39 9E A5 0F D1 70 9C 2D  
	 2D A5 7B 4B CA AC CF 23 9A 15 63 61 08 F3 58 9A  
	 11 A1 E9 07 1F 2C 51 94 EB 06 85 59 A5 CD 55 33  
	 47 B3 E0 AC 28 A6 62 93 9E 4B 8D 48 3F A3 2C F8  
	 49 D3 1D F0 3A AE A2 87 82 23 DE AC 09 B1 B4 02  
	 A2 82 3E F1 0C 75 16 EF 6E 09 93 D7 1A C6 7F 39  
	 8A D2 39 CB 2C 20 09 18 93 89 49 0B F1 30 9A 24  
	 4D B1 12 B5 05 25 08 E0  
	Encoded n 
	 06 01  
	Encoded L 
	 02 00 02  
	Length of newX is <3128> 
	newX is  
	 01 0C B3 30 73 7B 7F 00 88 7F FE 79 12 4D 61 77  
	 38 2B 92 FF DC 26 40 39 0F BB F3 85 26 8C 28 8A  
	 9C 9A D9 56 91 00 1C 6B F0 65 DF 3A 72 BD 5E 58  
	 DC 35 B8 D9 04 5E EC 7B 39 E9 90 BE 97 90 C7 0D  
	 B7 A2 03 5D FB 3C 60 39 BC 8D E8 D2 F7 C3 C6 93  
	 53 05 32 F2 06 EC DB 5B 87 27 D1 4E D3 21 55 86  
	 1C 94 7E C0 7C 79 0F 2D 20 80 CC A1 43 3C 07 13  
	 CC 87 F9 5C A8 0E 58 E1 F2 64 D2 D6 14 36 22 B1  
	 66 26 9E 6C B2 AA D4 75 B3 59 72 A7 D7 E8 B3 D2  
	 8E 47 A9 49 53 F2 60 21 38 D6 18 D6 D6 DC 4F 85  
	 7D E3 E4 36 FC DD 96 77 37 CC 11 0D A9 77 F8 28  
	 CD CF F4 24 CA F8 AD B7 F3 80 5D 9A 2D 2F EE 46  
	 4C 9A F6 32 65 84 56 94 31 55 01 6E BE A7 B4 5D  
	 7D 48 9B 82 DA 73 A9 17 F5 DA 81 CA DD C5 38 F0  
	 C8 F8 7F 44 9F 61 C1 F1 5E C2 67 7A 09 60 22 99  
	 4E F7 5A 36 28 83 F9 D7 2E DA 6C EF E8 24 50 F5  
	 CD 63 DC 24 D6 0D 29 65 BB 07 62 E3 98 D8 76 2D  
	 84 70 54 DC 02 DB 89 A0 47 91 5B B6 BB 1B 13 E1  
	 86 BD E8 15 E8 2C 00 DE CD 7A 89 36 D2 5C D5 29  
	 75 AF 75 25 77 D4 4B 24 C5 40 64 13 CB A0 C7 E2  
	 BF 62 AB 62 AA AD 9B 66 43 3E D1 9C 73 D3 2C 45  
	 D9 9B 4C F9 DA 67 C1 EE 07 7B 7A 0B F5 26 C8 89  
	 3B EA D3 4C D4 90 DD 6E 22 48 1D 7A 28 85 B4 D3  
	 86 8D 9C D2 B3 50 E2 92 66 D0 71 B5 3E FE E4 7C  
	 08 EC 06 01 02 00 02  
	Encoded N 
	 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	Encoded S 
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61  
	bytepad data 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Data to be absorbed 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 01 88 01 60 50 61 72 61 6C 6C 65 6C 48 61 73 68  
	 01 68 50 61 72 61 6C 6C 65 6C 20 44 61 74 61 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	 
	After Permutation 
	 01 33 43 40 0A 0F 02 59 DF AD 3D D3 6B 30 8E C2  
	 0C B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C  
	 18 E8 58 FE 2B 0E 9B 73 CB 74 D1 A9 C7 F2 7C F8  
	 5A 91 6C D0 0A E6 DE 28 92 0B B1 DA 4B 54 B5 1E  
	 DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95  
	 B2 F4 4A FD D0 85 1D 43 85 DD 6E 57 59 1E CB 90  
	 E6 64 FE 27 CE 63 6A 18 35 70 C9 A5 D3 70 59 B7  
	 88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92  
	 99 58 C9 E8 FF 56 88 AF 51 3C 82 FC 18 8B 89 E3  
	 8E 82 C5 36 E7 3A 2E 70 F0 9A 64 6B 08 4C F4 7C  
	 B8 C0 E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88  
	 5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C  
	 30 29 9A DE D0 0B 10 B0  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 01 33 43 40 0A 0F 02 59 DF AD 3D D3 6B 30 8E C2  
	 0C B8 E9 DB 7E 95 58 55 4E 74 EB 2D 01 C5 58 9C  
	 18 E8 58 FE 2B 0E 9B 73 CB 74 D1 A9 C7 F2 7C F8  
	 5A 91 6C D0 0A E6 DE 28 92 0B B1 DA 4B 54 B5 1E  
	 DA 70 B8 C9 44 2A 6D 59 3D AA A8 DB 7D BD EE 95  
	 B2 F4 4A FD D0 85 1D 43 85 DD 6E 57 59 1E CB 90  
	 E6 64 FE 27 CE 63 6A 18 35 70 C9 A5 D3 70 59 B7  
	 88 A3 82 33 9E 6E 67 AE D5 C8 54 59 15 19 5F 92  
	 99 58 C9 E8 FF 56 88 AF 51 3C 82 FC 18 8B 89 E3  
	 8E 82 C5 36 E7 3A 2E 70 F0 9A 64 6B 08 4C F4 7C  
	 B8 C0 E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88  
	 5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C  
	 30 29 9A DE D0 0B 10 B0  
	Data to be absorbed 
	 01 0C B3 30 73 7B 7F 00 88 7F FE 79 12 4D 61 77  
	 38 2B 92 FF DC 26 40 39 0F BB F3 85 26 8C 28 8A  
	 9C 9A D9 56 91 00 1C 6B F0 65 DF 3A 72 BD 5E 58  
	 DC 35 B8 D9 04 5E EC 7B 39 E9 90 BE 97 90 C7 0D  
	 B7 A2 03 5D FB 3C 60 39 BC 8D E8 D2 F7 C3 C6 93  
	 53 05 32 F2 06 EC DB 5B 87 27 D1 4E D3 21 55 86  
	 1C 94 7E C0 7C 79 0F 2D 20 80 CC A1 43 3C 07 13  
	 CC 87 F9 5C A8 0E 58 E1 F2 64 D2 D6 14 36 22 B1  
	 66 26 9E 6C B2 AA D4 75 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 00 3F F0 70 79 74 7D 59 57 D2 C3 AA 79 7D EF B5  
	 34 93 7B 24 A2 B3 18 6C 41 CF 18 A8 27 49 70 16  
	 84 72 81 A8 BA 0E 87 18 3B 11 0E 93 B5 4F 22 A0  
	 86 A4 D4 09 0E B8 32 53 AB E2 21 64 DC C4 72 13  
	 6D D2 BB 94 BF 16 0D 60 81 27 40 09 8A 7E 28 06  
	 E1 F1 78 0F D6 69 C6 18 02 FA BF 19 8A 3F 9E 16  
	 FA F0 80 E7 B2 1A 65 35 15 F0 05 04 90 4C 5E A4  
	 44 24 7B 6F 36 60 3F 4F 27 AC 86 8F 01 2F 7D 23  
	 FF 7E 57 84 4D FC 5C DA 51 3C 82 FC 18 8B 89 E3  
	 8E 82 C5 36 E7 3A 2E 70 F0 9A 64 6B 08 4C F4 7C  
	 B8 C0 E5 F6 4A E6 26 F2 62 57 EE E2 71 04 EC 88  
	 5A EB 50 B7 E6 45 CA 86 65 05 9E 56 82 A8 13 9C  
	 30 29 9A DE D0 0B 10 B0  
	 
	After Permutation 
	 C2 69 C6 47 82 73 7E AC E7 C1 19 80 F9 72 61 66  
	 5F 83 2A 11 46 02 59 8B F2 84 E4 F9 AD 06 D8 B5  
	 4B 56 32 16 0C A2 F0 BE 05 9A 9C 04 1F 1F C7 83  
	 96 91 BF 6B C5 6C EF C5 45 6A 38 77 A0 69 3D E6  
	 70 87 48 D0 9B 1D F7 24 12 7E 84 22 94 03 92 45  
	 11 C2 35 78 8C 44 49 00 56 07 5C 3C E0 ED A3 87  
	 FF 6E 65 8F 4C CF FB 03 03 45 79 88 7C E0 D2 60  
	 46 81 38 B6 25 A2 2C DA 04 4A AF F0 7B 74 4D 8F  
	 20 7E 3E 96 1B E0 10 2D 29 E4 86 7A 7A A7 2B E7  
	 92 98 A8 A7 20 CD 22 66 B4 D6 52 88 33 87 65 AE  
	 EF 55 AC A5 E5 55 0C 33 00 98 DA D5 5A 06 C6 B2  
	 C5 21 7D 8A 83 DA A0 B4 F2 82 3F DD 2D 8F A5 F2  
	 4C A6 8E 74 9D 84 60 CC  
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 C2 69 C6 47 82 73 7E AC E7 C1 19 80 F9 72 61 66  
	 5F 83 2A 11 46 02 59 8B F2 84 E4 F9 AD 06 D8 B5  
	 4B 56 32 16 0C A2 F0 BE 05 9A 9C 04 1F 1F C7 83  
	 96 91 BF 6B C5 6C EF C5 45 6A 38 77 A0 69 3D E6  
	 70 87 48 D0 9B 1D F7 24 12 7E 84 22 94 03 92 45  
	 11 C2 35 78 8C 44 49 00 56 07 5C 3C E0 ED A3 87  
	 FF 6E 65 8F 4C CF FB 03 03 45 79 88 7C E0 D2 60  
	 46 81 38 B6 25 A2 2C DA 04 4A AF F0 7B 74 4D 8F  
	 20 7E 3E 96 1B E0 10 2D 29 E4 86 7A 7A A7 2B E7  
	 92 98 A8 A7 20 CD 22 66 B4 D6 52 88 33 87 65 AE  
	 EF 55 AC A5 E5 55 0C 33 00 98 DA D5 5A 06 C6 B2  
	 C5 21 7D 8A 83 DA A0 B4 F2 82 3F DD 2D 8F A5 F2  
	 4C A6 8E 74 9D 84 60 CC  
	Data to be absorbed 
	 B3 59 72 A7 D7 E8 B3 D2 8E 47 A9 49 53 F2 60 21  
	 38 D6 18 D6 D6 DC 4F 85 7D E3 E4 36 FC DD 96 77  
	 37 CC 11 0D A9 77 F8 28 CD CF F4 24 CA F8 AD B7  
	 F3 80 5D 9A 2D 2F EE 46 4C 9A F6 32 65 84 56 94  
	 31 55 01 6E BE A7 B4 5D 7D 48 9B 82 DA 73 A9 17  
	 F5 DA 81 CA DD C5 38 F0 C8 F8 7F 44 9F 61 C1 F1  
	 5E C2 67 7A 09 60 22 99 4E F7 5A 36 28 83 F9 D7  
	 2E DA 6C EF E8 24 50 F5 CD 63 DC 24 D6 0D 29 65  
	 BB 07 62 E3 98 D8 76 2D 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 71 30 B4 E0 55 9B CD 7E 69 86 B0 C9 AA 80 01 47  
	 67 55 32 C7 90 DE 16 0E 8F 67 00 CF 51 DB 4E C2  
	 7C 9A 23 1B A5 D5 08 96 C8 55 68 20 D5 E7 6A 34  
	 65 11 E2 F1 E8 43 01 83 09 F0 CE 45 C5 ED 6B 72  
	 41 D2 49 BE 25 BA 43 79 6F 36 1F A0 4E 70 3B 52  
	 E4 18 B4 B2 51 81 71 F0 9E FF 23 78 7F 8C 62 76  
	 A1 AC 02 F5 45 AF D9 9A 4D B2 23 BE 54 63 2B B7  
	 68 5B 54 59 CD 86 7C 2F C9 29 73 D4 AD 79 64 EA  
	 9B 79 5C 75 83 38 66 00 29 E4 86 7A 7A A7 2B E7  
	 92 98 A8 A7 20 CD 22 66 B4 D6 52 88 33 87 65 AE  
	 EF 55 AC A5 E5 55 0C 33 00 98 DA D5 5A 06 C6 B2  
	 C5 21 7D 8A 83 DA A0 B4 F2 82 3F DD 2D 8F A5 F2  
	 4C A6 8E 74 9D 84 60 CC  
	 
	After Permutation 
	 37 17 76 AE 7C 5F 31 3B 93 2A 78 6A 7D 01 DB AE  
	 86 EC D2 57 63 EE 15 E3 56 D6 65 9D C4 08 E4 F6  
	 70 3B 41 73 05 3B 56 84 A2 8D 22 18 2A FF D8 41  
	 45 C2 23 CF 39 89 C6 00 25 95 EE 15 2B E1 1B 47  
	 A0 F6 74 32 89 6C 4E F2 B6 A5 4B 78 B5 C2 00 E4  
	 D7 12 39 07 E7 E0 FD 23 5F CD 7D 5F 7F 38 43 5B  
	 02 34 82 99 CC DB 71 60 4C 7D 44 0D E5 26 DB ED  
	 20 07 C3 95 12 07 24 DD 5B 22 33 C8 2D BD 7C F0  
	 1A BE 11 C4 59 BB 6F EF 68 A9 A6 F8 4E 99 6B B5  
	 B2 DF D8 F9 DB 14 24 11 7D BD 41 C6 1C 07 A8 04  
	 FF 87 92 1D B5 BD C2 AE D3 6C D3 0C 53 78 7F F7  
	 54 D8 6F 00 2B EC C4 6F 0D 0D 5A 38 20 9F 46 A6  
	 3B 5B B8 DB CF BB 31 06  
	about to call last of the absorb phase 
	------------------------------------------------------------ 
	About to Absorb data 
	State (in bytes) 
	 37 17 76 AE 7C 5F 31 3B 93 2A 78 6A 7D 01 DB AE  
	 86 EC D2 57 63 EE 15 E3 56 D6 65 9D C4 08 E4 F6  
	 70 3B 41 73 05 3B 56 84 A2 8D 22 18 2A FF D8 41  
	 45 C2 23 CF 39 89 C6 00 25 95 EE 15 2B E1 1B 47  
	 A0 F6 74 32 89 6C 4E F2 B6 A5 4B 78 B5 C2 00 E4  
	 D7 12 39 07 E7 E0 FD 23 5F CD 7D 5F 7F 38 43 5B  
	 02 34 82 99 CC DB 71 60 4C 7D 44 0D E5 26 DB ED  
	 20 07 C3 95 12 07 24 DD 5B 22 33 C8 2D BD 7C F0  
	 1A BE 11 C4 59 BB 6F EF 68 A9 A6 F8 4E 99 6B B5  
	 B2 DF D8 F9 DB 14 24 11 7D BD 41 C6 1C 07 A8 04  
	 FF 87 92 1D B5 BD C2 AE D3 6C D3 0C 53 78 7F F7  
	 54 D8 6F 00 2B EC C4 6F 0D 0D 5A 38 20 9F 46 A6  
	 3B 5B B8 DB CF BB 31 06  
	Data to be absorbed 
	 84 70 54 DC 02 DB 89 A0 47 91 5B B6 BB 1B 13 E1  
	 86 BD E8 15 E8 2C 00 DE CD 7A 89 36 D2 5C D5 29  
	 75 AF 75 25 77 D4 4B 24 C5 40 64 13 CB A0 C7 E2  
	 BF 62 AB 62 AA AD 9B 66 43 3E D1 9C 73 D3 2C 45  
	 D9 9B 4C F9 DA 67 C1 EE 07 7B 7A 0B F5 26 C8 89  
	 3B EA D3 4C D4 90 DD 6E 22 48 1D 7A 28 85 B4 D3  
	 86 8D 9C D2 B3 50 E2 92 66 D0 71 B5 3E FE E4 7C  
	 08 EC 06 01 02 00 02 04 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 80 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00  
	 00 00 00 00 00 00 00 00  
	Xor'd state (in bytes) 
	 B3 67 22 72 7E 84 B8 9B D4 BB 23 DC C6 1A C8 4F  
	 00 51 3A 42 8B C2 15 3D 9B AC EC AB 16 54 31 DF  
	 05 94 34 56 72 EF 1D A0 67 CD 46 0B E1 5F 1F A3  
	 FA A0 88 AD 93 24 5D 66 66 AB 3F 89 58 32 37 02  
	 79 6D 38 CB 53 0B 8F 1C B1 DE 31 73 40 E4 C8 6D  
	 EC F8 EA 4B 33 70 20 4D 7D 85 60 25 57 BD F7 88  
	 84 B9 1E 4B 7F 8B 93 F2 2A AD 35 B8 DB D8 3F 91  
	 28 EB C5 94 10 07 26 D9 5B 22 33 C8 2D BD 7C F0  
	 1A BE 11 C4 59 BB 6F 6F 68 A9 A6 F8 4E 99 6B B5  
	 B2 DF D8 F9 DB 14 24 11 7D BD 41 C6 1C 07 A8 04  
	 FF 87 92 1D B5 BD C2 AE D3 6C D3 0C 53 78 7F F7  
	 54 D8 6F 00 2B EC C4 6F 0D 0D 5A 38 20 9F 46 A6  
	 3B 5B B8 DB CF BB 31 06  
	 
	After Permutation 
	 69 D0 FC B7 64 EA 05 5D D0 93 34 BC 60 21 CB 7E  
	 4B 61 34 8D FF 37 5D A2 62 67 1C DE C3 EF FA 8D  
	 1B 45 68 A6 CC E1 6B 1C AD 94 6D DD E2 7F 6C E2  
	 B8 DE E4 CD 1B 24 85 1E BF 00 EB 90 D4 38 13 E9  
	 FE 1E AB 62 48 FB 34 EC 1A 1B F4 54 D7 D4 7E 8E  
	 3E F1 B3 11 87 05 F7 CB EA EF 05 C5 93 5C EF 7A  
	 69 C2 B7 08 06 22 1F 0B 96 E7 02 70 FF F4 B9 1D  
	 19 0C F1 49 3A 9B 0B D4 CF 90 70 60 79 49 4F 21  
	 DD 16 FB 0E 1B CF FF 21 47 60 1D 28 84 E9 18 B4  
	 C2 CF B4 32 D3 50 25 E4 84 EA E4 63 64 35 A2 77  
	 BF 31 AA 84 5B 35 B9 E8 9C 31 2F 82 19 49 15 07  
	 AF AF 5A 93 41 9E 0D 02 C3 51 2C 21 9C 73 DF 30  
	 77 05 7A 28 B2 9B 34 9F  
	Outval is 
	 69 D0 FC B7 64 EA 05 5D D0 93 34 BC 60 21 CB 7E  
	 4B 61 34 8D FF 37 5D A2 62 67 1C DE C3 EF FA 8D  
	 1B 45 68 A6 CC E1 6B 1C AD 94 6D DD E2 7F 6C E2  
	 B8 DE E4 CD 1B 24 85 1E BF 00 EB 90 D4 38 13 E9  
	 
	============================================================== 


